NAIR Assistant Signal N Telecom Engineer ASTE

Topic:- ASTE_PA_NAIRJUNE23

1)

In Automatic Signalling Section, once the Axle Counter system has failed,
which type of ‘Reset’ is required to be provided for resetting the Axle
Counters?

(1) Conditional Reset
(2) Preparatory Reset
(3) Local Reset
(4) Auto Reset

AeATeH BT WA H, U IR TFHA i3t [QEeH ol g A &
g1, ToFra o F13eT e 1 & Qv Fg v & '8 Fr 3maegesar
gr g7

(1) e e
(2) el Rece
(3) irper RAT
(4) 3iter REe

[Question ID = 526][Question Description = Q01_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2101]

2. (2) [Option ID = 2102]

3. (3) [Option ID = 2103]

4. (4) [Option ID = 2104]

Correct Answer :-

e (2) [Option ID = 2102]



When sanction of the PCSTE for the certain works which enhance level of
safety is granted, what is the period of validity of the PCSTE's sanction?

(1) 3 Months
(2) 6 Months
(3) 12 Months
(4) 24 Months

ST9 GI&T & FAU T dQl Al Fo FrAT & v dEeEdS f Al &
ST &, A SrEeads #r Ay $T dudr $T 3@fy #7247 g 87

(1) 3 Months
(2) 6 Months
(3) 12 Months
(4) 24 Months

[Question ID = 527][Question Description = Q02_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2105]

2. (2) [Option ID = 2106]

3. (3) [Option ID = 2107]

4. (4) [Option ID = 2108]

Correct Answer :-

e (2) [Option ID = 2106]



As per RDSO Specification of El (Electronic Interlocking) for Big Yard, the
MTBF (Mean Time Between Failure) of all vital modules shall be more than
the followings-

(1) 20,000 Hrs
(2) 50,000 Hrs
(3) 1,00,000 Hrs
(4) 2,00,000 Hrs

g2 O & AU 233 (Solaciiele Sclditedl) & NRESwEsT fafader
(Tt & uR, @l Fgca ol Aisge T THEEINE (Aherar &
o #1 tEa TFy) Feafef@a ¥ 3fEs e

(1) 20,000 &<
(2) 50,000 &
(3) 1,00,000 &1
(4) 2,00,000 ¢

[Question ID = 528][Question Description = Q03_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2109]

2. (2) [Option ID = 2110]

3. (3) [Option ID = 2111]

4. (4) [Option ID = 2112]

Correct Answer :-

e (3) [Option ID = 2111]



As per RDSO specification of El (Electronic Interlocking) for Big Yard,
system Availability (Operational Availability of complete system, including
power supply, wiring etc.) shall be better than the followings-

(1) 98.00 %
(2) 98.50 %
(3) 99.98%
(4) 99.99%

g I F foU SHIS (Solacifeeh Scldliiehdl) & 3IREegsr [fader
(Eafaftharere) & AR, feea 3veeuar (Reelr smafd, aafier anfy
afea gt gomel H gRaTew 3Ty Mefaf@d & sgaw el

(1) 98.00 %
(2) 98.50 %
(3) 99.98%
(4) 99.99%

[Question ID = 529][Question Description = Q04_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2113]

2. (2) [Option ID = 2114]

3. (3) [Option ID = 2115]

4. (4) [Option ID = 2116]

Correct Answer :-

e (3) [Option ID = 2115]



As per RDSO Specification for Single Section Digital Axle Counter, Service
Life of the Digital Axle Counter System shall not be less than the following-

(1) 10 Years
(2) 15 Years
(3) 20 Years
(4) 25 Years

Terer Aeperet T3TSeel Toreel #13cT & forv AEivas fAfde & e,
Boca tFaa #13ex Req H1 ¥ar Siaa (Tfdw asw) Aeaferaa 8
FH LT graf-

(1) 10 a§
(2) 15 ¥
(3) 20 a¥
(4) 25 9§

[Question ID = 530][Question Description = Q05_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2117]

2. (2) [Option ID = 2118]

3. (3) [Option ID = 2119]

4. (4) [Option ID = 2120]

Correct Answer :-

e (3) [Option ID = 2119]



6)

As per RDSO Specifications for Kavach application, RFID tag used shall
have minimum ingress protection level of "IP-XX". In this regard which one
of the followings options is correct for "IP-XX"?

(1) IP-56
(2) IP-65
(3) IP-68
(4) IP-78

Fad Ueerhea & fov amEvast ffadat & aeen, 3w e s
aTel HRUHHTEST 837 H "HIEU-XX" & gAdH Taer FI&T TR aar 1w
Oy H farafoiaa & & &9 @1 [Oeeg "Hed-tegauay” & fore @gr
g7

(1) IP-56
(2) IP-65
(3) IP-68
(4) IP-78

[Question ID = 531][Question Description = Q06_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2121]
2. (2) [Option ID = 2122]
3. (3) [Option ID = 2123]
4. (4) [Option ID = 2124]

Correct Answer :-
e (3) [Option ID = 2123]



What is the Pick-Up Voltage and Current (approximately) of QBAT Track
Relay?

(1) 1.40 Volts & 140 mAmp
(2) 1.40 Volts & 175 mAmp
(3) 1.75 Volts & 140 mAmp
(4) 1.75 Volts & 175 mAmp

QBAT ¢ o &1 Uh-319 dieesl 3 e (SI91e7er) FaT §7?

(1) 1.40 a@ree 31X 140 &6 TrdRR
(2) 1.40 atee 3R 175 &6l wrd=T
(3) 1.75 dlee 3 140 @i vediT
(4) 1.75 aree 3T 175 Fel vedT

[Question ID = 532][Question Description = Q07_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2125]
2. (2) [Option ID = 2126]
3. (3) [Option ID = 2127]
4. (4) [Option ID = 2128]

Correct Answer :- Deleted



8)

Pre-commissioning Check Lists for Equipments like, El, IPS, DATA
LOGGER, DACs, UFSBI shall be Verified & countersigned respectively by
which of the following level of officials?

(1) OEM Representative & SSE In-charge

(2) SSE In-charge & Field ADSTE/DSTE

(3) Field ADSTE/DSTE & Sr.DSTE/Dy.CSTE

(4) Sr.DSTE/Dy.CSTE & CSE/CSTE (Project/ Construction)

23S, ST, 3eT Jh, SvH, JUETHANE AW 3uwmon F oo -
FHNAT B foee FAw: Aeafef@a & @ et § sl ganr
Feaiad 3R ufdgeaeia i sresf?

(1) 3w afafafer v gy vaves

(2) sy vawEs A fies wEivads/ Svwds

(3) Frez wIvEdE/ Sveds I difFaw Svads/ B dugds

(4) HifeR Sewadz/ B divwds Hk divay dads (Yisiee/ @amT)

[Question ID = 533][Question Description = Q08_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2129]

2. (2) [Option ID = 2130]

3. (3) [Option ID = 2131]

4. (4) [Option ID = 2132]

Correct Answer :-

e (3) [Option ID = 2131]



On Double Line section, with unscreened cable, the maximum permissible
length of parallelism of DC Circuits using QNA1/QNNA1 Line Relays shall
be restricted to what distance?

(1) 1.0 Km
(2) 1.2 Km
(3) 2.1 Km
(4) 2.8 Km

= oS A W, 91 ShiT arer SEd & a1y, QNAT/QNNAT s
R 1 39T A arel ST Hiche I FAGGAT HT ATUHAH AT

Srar$ Rreel off aw WET @e

[Question ID = 534][Question Description = Q09_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2133]

2. (2) [Option ID = 2134]

3. (3) [Option ID = 2135]

4. (4) [Option ID = 2136]

Correct Answer :-

e (4) [Option ID = 2136]



As per cable core plan given for guidance in IRSEM-2021, which one of the
followings options is correct regarding requirement of estimated total
quantity of all types of signalling cables for 4 Road Station with Pl (Panel
Interlocking) and that of 6-Road station with distributed El (Electronic
Interlocking) respectively?

(1) 48 Km & 62 Km
(2) 63 Km & 84 Km
(3) 83 Km & 84 Km
(4) 112 Km & 115 Km

IRSEM-2021 # MR & folw 41 a5 dheel SN Alelel & AR, P
(FTer SXATThaT) &F A1 4 U3 €l F fovw 3R FaRa El (BEsges
SolFciicleh Sclalshdl) & T 6-US FEUT & forw Tt Uh F THaafoier
herol T STATAT Fel HATF AL & Teaed H FAU: Hrafaiad H
O Hiaar [Ghea Tgr 82

(1) 48 ToreT & 62 TFaT
(2) 63 ToraT & 84 TRaAT
(3) 83 Toh#T & 84 TohaT
(4) 112 ThaT & 115 FaAT

[Question ID = 535][Question Description = Q10_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2137]

2. (2) [Option ID = 2138]

3. (3) [Option ID = 2139]

4. (4) [Option ID = 2140]

Correct Answer :-

e (3) [Option ID = 2139]



Every Multiple Aspect Signal, whether Automatic, Semi-Automatic, or
Manually Operated, which is required to display 'caution’' aspect to a train
shall normally be placed at an Adequate Distance from the next signal in
advance. Which one of the followings is this Adequate Distance?

120 Mtr
180 Mtr
1000 Mtr
2000 Mtr

(1
(2
(3
i

T N M

Tl HoCITel TEdee [HeTter, =g Faaiold, Td-Faaied, a1 HAeg3Ta ®9
O garferd 8, ST Ueh ¢ &l "AIaUTaT Tehd ol JGITd Flel & [olT HTGTH
t, OHET & § 3T Rewer & gdica gfr @ @ s frfataa
HY Tg 9gAed gl FieT €@ Th g2

120 Mtr
180 Mtr
1000 Mtr
2000 Mtr

(1
(2
(3
(4

e S

[Question ID = 536][Question Description = Q11_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2141]

2. (2) [Option ID = 2142]

3. (3) [Option ID = 2143]

4. (4) [Option ID = 2144]

Correct Answer :-

e (3) [Option ID = 2143]



Which of the followings in not correct regarding control system features
available in Traffic Management System (TMS) system?

(1) Centralized Operation of Signalling Systems for a large Railway section
encompassing multiple interlocked stations and LC gates.

(2) TMS should have facility of Automatic Route Setting (ARS), Long route
setting command

(3) Automatic Train Operation including Acceleration, increase in speed and
Emergency braking.

(4) Interfacing & real time data sharing with COA (Control Office
Application), Crew management system, PA system at station, etc.

T el JOTell (TMS) 9OTell & 3uefetl fo1a=07 JoTell giaensit &
TR # Aeafaf@a & & 9 a1 @er JAar g7

(1) v &2 @ w2 & fov feafes e & Fhea gared 58d 5
Sedolles o=l 3R Tl diT oA g

(2) EvATE & eAfed ¢ AT (WIRTH), A1 & AfeT FATE Hr
gfaur grer afgw

(3) @oT, AT H FENT 3T T sfher Higd Tl o HaTe |
(4) TT (Fgier HAMHE Toollh=), F HAdaiHe THEeH, T W Hie
Bres, Mg & 1Y Sexwhian 3R R ega Ser i)

[Question ID = 537][Question Description = Q12_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2145]

2. (2) [Option ID = 2146]

3. (3) [Option ID = 2147]

4. (4) [Option ID = 2148]

Correct Answer :-

e (3) [Option ID = 2147]



Level crossings Gate is classified as Special Class when TVU (Train
Vehicle Unit) is greater than which one of the followings?

1,50,000 TVU
1,00,000 TVU
50,000 TVU
30,000 TVU

(1
(2
(3
(4

e T Tt T

&y (o7 arget shs) AT # @ fFed 991 g9 9T, §AUR Gl
F ORI T (FRre FoH) F 9 H qIfGa AT ST 87

(1) 1,50,000 &g
(2) 1,00,000 &g,
(3) 50,000 &y

)
)
)
(4) 30,000 &

[Question ID = 538][Question Description = Q13_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2149]
2. (2) [Option ID = 2150]
3. (3) [Option ID = 2151]
4. (4) [Option ID = 2152]

Correct Answer :-
e (3) [Option ID = 2151]



As per IRSEM-2021, "Automatic Fire Detection and Alarm System" as well
as "Automatic Fire Suppression System" are to be provided at which
stations in general for the protection of important signaling systems?

Stations with more than 200 Routes
Stations with more than 400 Routes
Stations with more than 600 Routes
at all stations irrespective of number of routes.

(1
(2
(3
(4

L e e R ]

IRSEM-2021 & 3@R, "HicHfeh HRR Bee Us 3eme fwea” &
|I-HTY "IHiCHARE B ' fAEeHE” w Agcaqol Reeioer feeH @
T & v GEeg &9 @ e 8@ W veE har Sier g2

(1) 200 & 378 &¢ aTet TR
(2) 400 & 38 &¢ aTor TEAH
(3) 600 & 38 &¢ aTol T
(4) Tsft T IR, I8 e & ¢ @

[Question ID = 539][Question Description = Q14_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2153]

2. (2) [Option ID = 2154]

3. (3) [Option ID = 2155]

4. (4) [Option ID = 2156]

Correct Answer :-

e (2) [Option ID = 2154]



15)

In the Data Logger Fault Logic, the fault logic condition provided is "In
between two sequential TPRs around point zone Down to Up, the status of
NWKR or RWKR Changes more than 2 times and status of EWNR is not
changed". This fault logic indicates which one of the following conditions?

(1) Track Bobbing

(2) Point Loose Packing
(3) Point Failure

(4) Point Burst

3T ARR Hiee AlTerd A TSI H TS Bloe dlferd EATd § "TEC A &
HTHATH &1 A TPRs & &< 3348 ¢ 319, NWKR a1 RWKR &r f&afa
2® s ax Feordr & 3T EWNR #r fufa a8 sgen ot 871 7% A
T (Wlee diters) e & @ frw feufa & 3 #var 22

(1) & aifear
(2) warge o= Gfher
(3) carse fawerar

(4) TaTET Be (IEC)

[Question ID = 540][Question Description = Q15_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2157]

2. (2) [Option ID = 2158]

3. (3) [Option ID = 2159]

4. (4) [Option ID = 2160]

Correct Answer :-

e (2) [Option ID = 2158]



As per IRSEM-2021 Cable Markers of approved type shall be provided
which should be placed at an interval of "X" meter in Station Section and
"Y" meter in Block Section besides at diversion points to mark the Signalling
cable route. Which one of the followings is "X" and "y" interval distance
respectively?

(1) 10 Meter & 20 Meter
(2) 20 Meter and 50 Meter
(3) 30 Meter & 50 Meter
(4) 50 Meter & 100 Meter

IRSEM-2021 & 38R HFAIGT ThR & FHael HH Yo= foh SATCeT
See T@IATeleT el ®¢ I Rfced F & &0 SUaaa dise & HolE
TR HaR H "X HeX & A W AR solie 920 H "Y' HX |
ST ST anfgv| Aeafat@a & @ e "X AR Y 3aue gl Hie 6

[Question ID = 541][Question Description = Q16_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2161]
2. (2) [Option ID = 2162]
3. (3) [Option ID = 2163]
4. (4) [Option ID = 2164]

Correct Answer :-
e (2) [Option ID = 2162]



As per IRSEM-2021, what is the allowable maximum permissible speed for
run-through trains on main line at a station with Standard-Ill interlocking?

(1) 110 Kmph
(2) 130 Kmph
(3) 140 Kmph
(4) 160 Kmph

IRSEM-2021 & 3(eT8NR, HIeTsh-1l| SeTellehal aTel TEAF T HA oSl W
-y &eAl & foT Tehd Jifashaa AT aifd 41 §2

(1) 110 foredt ufa =er
(2) 130 foredt ufa =er
(3) 140 foraT wufer =er
(4) 160 TordT ufer =er

[Question ID = 542][Question Description = Q17_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2165]

2. (2) [Option ID = 2166]

3. (3) [Option ID = 2167]

4. (4) [Option ID = 2168]

Correct Answer :-

e (3) [Option ID = 2167]



As per stipulations in IRSEM-2021, the induced voltage in the underground-
unscreened cable shall be reckoned as "X" on Double Line section under
normal conditions with the catenary current of 1000 Amp. Which one of the
followings is correct for the value of "X"?

(1) 95 Volts/km
(2) 115 Volts/Km
(3) 142.5 Volts/km
(4) 172.5 Volts/km

IRSEM-2021 # 2l & 376N, STAEs-HaAwnle dad A IR alecst Hi
"X"& ®T H AT AT, Fd THTT TRIAGAT H ST o5 9920 W
eI L 1000 Amp &Y. fAefoi@d # & &l @1 & "X #Aea & fow
el 872

(1) 95 arce/fhaAr
(2) 115 aree/fRaT
(3) 142.5 dree/fhaT
(4) 172.5 aree/fHHT

[Question ID = 543][Question Description = Q18_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2169]

2. (2) [Option ID = 2170]

3. (3) [Option ID = 2171]

4. (4) [Option ID = 2172]

Correct Answer :-

e (1) [Option ID = 2169]



For El installation, clean and dirty wiring shall be clearly segregated and
routed in different enclosures/ ladders. What shall be the minimum distance
maintained between clean and dirty wiring?

(1) 50 mm

(2) 150 mm
(3) 300 mm
(4) 500 mm

$37Ts T o oI, Faoo 3R 91 aRl & TS §9 & 37e9T har SATar
Tfew 3R 3rerer-3terer BRy @ifeat & s Far Ser g, e R A
aRt & @ 7gaad gt frastr gl afge?

(1) 50 f&elT Hrex
(2) 150 e #Hiex
(3) 300 &= Hiex
(4) 500 T Hiex

[Question ID = 544][Question Description = Q19_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2173]

2. (2) [Option ID = 2174]

3. (3) [Option ID = 2175]

4. (4) [Option ID = 2176]

Correct Answer :-

e (2) [Option ID = 2174]



Where essentially required, for long/curved platforms on loop line, a Starter
Indicator may be provided to repeat the aspect of the Starter as an aid to
the Guard to enable Guard to know the aspect of the Starter. What shall be
the indication of Aspect of such Repeater Starter Indicator Signal when
concerned Starter Signal is at ON & OFF condition respectively?

(1) Red Light when Starter is at ON & Green Light when Starter is at OFF
(2) Red Light when Starter is at ON & Yellow Light when Starter is at OFF
(3) No Light when Starter is at ON & Green Light when Starter is at OFF
(4) No Light when Starter is at ON & Yellow Light when Starter is at OFF

et 3ifard &9 & 3TavTsh gl Fe/gATdeR o oi$el & SolchiA! & T,
TEET & JTEUSE I S & TolT e i Gggar & &5 & Tl &
HTIFC Fl Gl & folv T TEIET Tohd (STEhex) e foham ST Tahar
gl W Rdiex werdy sRsher 9w & 3ed9c &1 F4T Tohd gl o9
gafd Terel e HA: 3 T 36 TyfT 7 g

(1) aTeT §air S8 Ferel 3T 8 3K g8 ==& 59 Tl 3% @

(2) STl ST S8 TEereT 3 & 3t deh s§r J9 T 3% &

(3) TCEX & 3T gl W FIs oSc Jel 3 T & A g W A=
s

(4) TEEX & 3T gl I Fis oS¢ A 3R TCEL & 36 gl 9 drail

G

[Question ID = 545][Question Description = Q20_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2177]
2. (2) [Option ID = 2178]
3. (3) [Option ID = 2179]
4. (4) [Option ID = 2180]

Correct Answer :-
e (4) [Option ID = 2180]



As per IRSEM-2021, for outdoor signalling circuit in 25KVAC RE area, the
maximum permissible induced voltage is restricted to "X" for human safety
and factor of safety "Y" has been considered. Which one of the followings
is correct for the value of "X" & "Y" respectively?

95 Volt & 2.5

115 Volt & 2.5
230 Volt & 1.5
400 Volt & 1.5

(1
(2
(3
(4

(SRR S S

IMSINTHSUA-2021 F 3TTHR, 25FaTTHT 3RS & # angdy fAearfaer afdhe
¥ forw AT guem & v sftwaw s 9 dees " aw @faa
¢ 3R IR F FRF A" W fGER Brar o g Feafaf@a & @ Flaar
FHT: "X" IR "Y' F AT F T F@Er 2

(1)95atec & 25
(2)115aec & 2.5
(3)230dlec & 1.5
(4) 400 @ree & 1.5

[Question ID = 546][Question Description = Q21_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2181]

2. (2) [Option ID = 2182]

3. (3) [Option ID = 2183]

4. (4) [Option ID = 2184]

Correct Answer :-

e (4) [Option ID = 2184]



As per IRSEM-2021, what is the stipulated periodicity of System Integrity
Test (SIT) i.e., a complete testing involving both Indoor & Outdoor signalling
equipment for functional working & safety after commissioning of new
signalling installation?

(1) 1 Year
(2) 2 Year
(3) 3 Year
(4) S Year

IRSEM-2021 & 38R, f@weH e &we (SIT) Tell Av f@esfoer
SECIolRE & 8l & aIg Fdicas Fd IR e & v 381 3k
3M3eSR I FTHOT Qi i eMfAer Fd §T TF qUT GLETor, H
e safer a7 &2

(1 1ay
(2)2ay
(3)3ay
(4)5a%

[Question ID = 547][Question Description = Q22_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2185]

2. (2) [Option ID = 2186]

3. (3) [Option ID = 2187]

4. (4) [Option ID = 2188]

Correct Answer :-

e (4) [Option ID = 2188]



What is indicated by an aspect of Distant Signal in single distant i.e., 3A
MACLS signalling territory, if it displays a Proceed Aspect?

(1) Run through on Main Line

(2) Run through on Loop Line

(3) Train is going to be received on Main Line

(4) All the above options i.e. (1), (2) & (3) are correct

f89Ter [3ece T 3A MACLS f@eaferr &3 & Bede Read & 3 ee &

(3) AT AT 9T ¢ I foraT 37 WT &
(4) 3Raa @8t [ereq I (1), (2) 3R (3) Ter &

[Question ID = 548][Question Description = Q23_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2189]
2. (2) [Option ID = 2190]
3. (3) [Option ID = 2191]
4. (4) [Option ID = 2192]

Correct Answer :-
e (1) [Option ID = 2189]



In Multiple Aspect Colour Light Signalling section, for speed in excess of 15
Kmph, which of the following type/s of Route indicator/s can be used?

(1) Direction (Junction) type Route Indicator

(2) Multi-Lamp type Route Indicator

(3) Stencil type Route Indicator

(4) All the above options i.e. (1), (2) & (3) are correct

Hedlgol UEUae shold olisc [Hdddioldl "Rl #H, 15 AT ufd 8¢ & AT+
Fr a1 & forw, Aeafoi@a # & Fg &R & & sfached FT 39I9T Ram
ST TRl §7

(1) fe=rr (SFF2) 2139 &€ sfShed

(2) AeCI-oiT 289 ®¢ Sf5ehed

(3) T8 TB39 Fe 33hel

(4) 3T gt TeT =T (1), (2) 3R (3) TEr &

[Question ID = 549][Question Description = Q24_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2193]

2. (2) [Option ID = 2194]

3. (3) [Option ID = 2195]

4. (4) [Option ID = 2196]

Correct Answer :-

e (1) [Option ID = 2193]



When the Shunt Signal and Calling-On Signal is provided bellow Stop
Signal then what shall be the sequence from top to bottom?

(1) First Shunt and then Calling-On
(2) First Calling-On then Shunt Signal

(3) Calling-On and Shunt Signal together on same signal post is not
possible
(4) Any of (1) or (2) is permissible

9 T9 BT & s e [eraer 3R Fiteer 3 e fear sar &
ar 39T § o T T FAT FH gem?

(1) Tger e AR T Sifoier 3i7e

(2) 98l @il AT Y e THaTeTo

(3) T & FHerae 9iec 9 T |1 ol Har 3R qT Haraer @ea a7
3

(4) () ar (2)F | FI5 o 3TAT &

[Question ID = 550][Question Description = Q25_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2197]

2. (2) [Option ID = 2198]

3. (3) [Option ID = 2199]

4. (4) [Option ID = 2200]

Correct Answer :-

e (2) [Option ID = 2198]



26)

Under which of the following conditions the Tongue Ralil is treated as worn-
out, for repair/ replacement?

(1) Chipped/cracked over small lengths totalling to 200 mm within 1000 mm
from the toe. Chipped length is the portion where tongue rail has worn out
for a depth of more than 10mm over a continuous length of 10 mm.

(2) Developed a knife edged tip, thickness of tip less than 2 mm over a
length of more than 100 mm anywhere up to 1000 mm from iis toe.

(3) Badly twisted, does not house properly and cause a gap of more than 5
mm at the toe.

(4) Alli.e. (1), (2) & (3) above are correct

Teafaea & ¥ fow g # o1 9 & aEAqMaeyma & e ©@ar
gd-llﬂ'!?-ﬂ'aﬂdl%?

(1) e o & & & 1000 f&#T & ofiay $or 200 B T H B wfag
# faurwer gam Rcs o= 98 Rwwr @ Sier 10 A & oo ders A
10 et & 1f Fr s & v & W@ g 2 8

(2) =mp @ g Aol A AR Fr 8- fFaw W@ #r o F 1000 fHAT H
gl g& Far ot e & Arers 100 A @ fUw & e 9w 2 A @
FH Bl

(3) 8 e HaT g3, AF | Ve 7L erar € AR Faw & Hrar A 5 A
T ¥ @ 3w Yer HTar gl

(4) 390eg @3l fawew Il (1), (2) 38T (3) @@ &

[Question ID = 551][Question Description = Q26_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2201]

2. (2) [Option ID = 2202]

3. (3) [Option ID = 2203]

4. (4) [Option ID = 2204]

Correct Answer :-

o (4) [Option ID = 2204]



Which one of the following options is correct for Minimum Essential
Signalling & Interlocking features, which shall be provided based on
Standard of Interlocking for achieving Standard-1V Interlocking?

(1) 4A Automatic Signalling

(2) ATP (Automatic Train Protection) with Cab Signalling
(3) CTC (Centralised Traffic Control)

(4) All the above options i.e. (1), (2) & (3) are correct.

et & & i a1 TFheq ada aeds Reefeer 3R geaiih
giaemsit & fow @ET §, S ATeTsh-IV ScTelliedl WIoe el & folT SeTalliehar
& HATd® & ATUR 9T Yeled fehaT SATTIm?

(1) 4A Faarfora fEeafaier

(2) e eaAfolT & @ Wdr (HC#ACS ol dicarrad)
(3) HET (Fepa IraraTd =)

(4) 3aa g3l gaT, AT (1), (2) 3T (3) TWEr &,

[Question ID = 552][Question Description = Q27_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2205]

2. (2) [Option ID = 2206]

3. (3) [Option ID = 2207]

4. (4) [Option ID = 2208]

Correct Answer :-

e (2) [Option ID = 2206]



Insulation Resistance of Quad Cables used for BPAC shall be Testing with
which of the following Insulation Tester?

(1) 100 Volt Megger
(2) 250 Volt Megger
(3) 500 Volt Megger
(4) 1000 Volt Megger

SITH & foT 39T fRT S gt F41S hded I Fogererd gfaly
fArafaie@d A8 fhg segoeirie gliaTsh & @Y GIeqor fonar Sirean?

(1) 100 @reT AT
(2) 250 ateT AIR
(3) 500 glee FHIX
(4) 1000 dlee HIN

[Question ID = 553][Question Description = Q28_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2209]
2. (2) [Option ID = 2210]
3. (3) [Option ID = 2211]
4. (4) [Option ID = 2212]

Correct Answer :-
e (1) [Option ID = 2209]



At what stage will interlocking between conflicting routes is achieved by
means of a route interlocking electric circuit?

(1) Initiation stage.
(2) Control Stage
(3) Checking Stage
(4) Locking Stage

forg TOT 9T, ¢ Scalthdl Soifdcs Afhe & ATEIH F qEay fared
AT & T SeTaiiehar uread I Sy 87

(1) sfafRITeeT =Xor
(2) Fogier TIOT
(3) Tferer IO
(4) SIfeRaT =T

[Question ID = 554][Question Description = Q29_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2213]

2. (2) [Option ID = 2214]

3. (3) [Option ID = 2215]

4. (4) [Option ID = 2216]

Correct Answer :-

e (1) [Option ID = 2213]



Which one of the following tests is performed during FAT (Factory
Acceptance Test) Testing of Electronic Interlocking?

(1) Interface with I/O card Test

(2) Control Table (including Negative Testing) Test
(3) Intercommunication test between sub-racks

(4) Correspondence Test

gelergiioleh seXallshal & FAT (thearedl Fispfa gderor) aeror & aRre foteet
H d i @ qleor fRar Jrar g2

(1) 3715 / 31T F1S & TTT SeThy GII&ToT

(2) TFAOT ATforepT (FhRTcH® TUIETOT Afgd) TLIaToT
(3) Te-Yeh & Il FeThaYfotehelal TIETOT

(4) TTHSIET T{&ToT

[Question ID = 555][Question Description = Q30_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2217]

2. (2) [Option ID = 2218]

3. (3) [Option ID = 2219]

4. (4) [Option ID = 2220]

Correct Answer :-

e (2) [Option ID = 2218]



As per IRSEM-2021, as a general arrangement, normally Air Conditioning
may be provided for every signalling interlocking (PI/RRI) installation having
more than "X" no. of signalling routes. What shall be the value of "X"
amongst the followings?

(1) 50 Routes

(2) 100 Routes

(3) 200 Routes

(4) mandatorily, for all routes

IRSEM-2021 & 378, Ush HHY cIaedT & 9 H, AT §7 § "X
ge&ar ¥ 31t Hr Feafes AE aror g9l [eafoer setarie (PI/RRI)
FATYAT & ToIT TAT FSRITAT Ualel @l ST Hehall &l Sedioiad # § "X"
T AT FAT GIAM?

(1) 50 Te|
(2) 100 Te&
(3) 200 F&|
(4) sifaard w7 &, 93l sca & fow

[Question ID = 556][Question Description = Q31_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2221]

2. (2) [Option ID = 2222]

3. (3) [Option ID = 2223]

4. (4) [Option ID = 2224]

Correct Answer :-

e (2) [Option ID = 2222]



As per IRSEM-2021, what is the minimum % spare conductors of total
conductors used for signalling purpose, is required to be provided in each
Main Cable up to the farthest point & crossing zone?

(1) 10%
(2) 20%
(3) 50%
(4) 100%

IRSEM-2021 % 378, Ucdsh HET dhelel H HoH gy Uise U4 shiteer &=
oo TReifera 36237 & ToIT 3ugMer fohT Silet arel Fol Ssehedl T oA H
oraeT % AT (TIIT) F5Fed TaTd [hIT AT HTaTH 67

(1) 10%
(2) 20%
(3) 50%
(4) 100%

[Question ID = 557][Question Description = Q32_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2225]

2. (2) [Option ID = 2226]

3. (3) [Option ID = 2227]

4. (4) [Option ID = 2228]

Correct Answer :-

e (2) [Option ID = 2226]



Which one of the following descriptions appears on IPS Status Monitoring
Panel in ASM Room, when IPS Battery Bank Level is at 70% Depth of
Discharge?

(1) Start Generator

(2) Emergency Start Generator
(3) System Shut Down

(4) Call S&T Staff

UUHUA F& # Jsded Fufd HeEr daa W Heafei@d &7 & Sl ar
TAaIUT Uehe BIAT £, 99 ATy Sl 8 TaT Bwars $r 70% s 91
gle 87

(1) STeT¥eT AE HY

(2) SHET TETC SAaiel

(3) TeH e s3A

(4) T U3 & TIW HT Forsil

[Question ID = 558][Question Description = Q33_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2229]
2. (2) [Option ID = 2230]
3. (3) [Option ID = 2231]
4. (4) [Option ID = 2232]

Correct Answer :-
e (3) [Option ID = 2231]



Which one of the following statements is not true for VRLA (Maintenance
Free) Battery used in IPS system?

(1) Decay in Battery capacity @ 1.5-2% per year
(2) Battery needs to be charged even in store within 3 to 5 months.

(3) Should be installed in AC room. Battery capacity reduces to half for every
10degC rise in temp. above 27degC

(4) Maintenance schedule of 15 days to be followed

3edIed qomell & 9 dIsRUAT (HeAw W) st F fov efafad
A HFlT G FAT TSI Tl 872

(1) S &THAT H &9 @ 1.5-2% ufd a¥

(2)3" 5Ae & HaT e 7 off st It F= I T ¢l

(3) THY ®H H oNaT difgl. 27 3o Afcadd @ 9 & d9dAd H Ucds
10 f3aft Afcwmd $1 gefer & forw it 1 araar el g ST g
(4) 15 f&aT & T@IEE FTIHH FT 9o [har =T &

[Question ID = 559][Question Description = Q34_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2233]
2. (2) [Option ID = 2234]
3. (3) [Option ID = 2235]
4. (4) [Option ID = 2236]

Correct Answer :-
e (4) [Option ID = 2236]



For signalling circuits, fuses of correct capacity shall be provided, which
should be not less than "X" times the rated current. Which one of the
followings is correct value of "X"?

(1) 100%
(2) 150%
(3) 250%
(4) 300%

farafoier afhe & forw, wer &\ aT & v vae & arer, &t 1S e
& X" IAT A FA AG g wievl eEfaf@a # & X Egr A

g

(1) 100%
(2) 150%
(3) 250%
(4) 300%

[Question ID = 560][Question Description = Q35_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2237]

2. (2) [Option ID = 2238]

3. (3) [Option ID = 2239]

4. (4) [Option ID = 2240]

Correct Answer :-

e (3) [Option ID = 2239]



Double cutting arrangement is provided in the signaling circuit of vital relay,
by this which of the followings is ensured?

(1) the Signal Aspect Control is achieved.

(2) Single fault can not cause any unsafe condition in vital external signalling
circuit.

(3) Signal ahead is not blank i.e. No Light.
(4) All of the above i.e. (1), (2) & (3) are true.

arsee ol & esifeler @lehe & S HIeT IaEAT Vel HI Il g, 3T
fArafaf@a & & Far giaRaa far smar §2

(1) 7aor 3Uae Fverd g AT ST &l

(2) HgcaquT sTedl [ecfonT dihe & Tehel arorcr fohalr off srefera fufa
FI FROT gl o1 Fhell gl

(3) AT Tehed WTAT 7l &,

(4) 390aa gafr 3747 (1), (2) 3R (3) FF &.

[Question ID = 561][Question Description = Q36_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2241]
2. (2) [Option ID = 2242]
3. (3) [Option ID = 2243]
4. (4) [Option ID = 2244]

Correct Answer :-
® (2) [Option ID = 2242]



Which one of the followings is not an essential requirement to be complied
by SSE/P-Way, before Interlocking of an electrically operated Point &
Crossing provided with Axle counter in point zone for track locking?

(1) Point zone which is to be interlocked, is fully ballasted and packed.

(2) The gauge tie plate is fitted correctly.

(3) Throw of Point switches on either side is properly adjusted as per
Signalling requirement.

(4) Glued joints & 100% GFN Liners are provided in point zone including
crossover portion.

¢e alifeheT o forT dfsc Siie 7 ToFAel H3cY & {TY Wara fhe a7 faega
HaTford wage 3R HIfHeT & FeXaliiedT § Tge THUHS/M-d @RI 3eTdTor
Fe & v Fafaf@a # ¥ $i9 O v T 3A19eTsar Jgr g7

(1) carEe S o Sexelis foFam o g, & 9ff ot & el ik O
foram amar &

(2) 3T TIE ol T &7 ¥ e &

(3) RTeTeT 1 JTTaRTRAT o HTEN aldl i o7 3% gige o= H 3h
o gEETeT & g

(4) 7oLz Siige AR 100% SAUHTA A8 Frada BEy wigd @se A
H YereT &FT a7 g,

[Question ID = 562][Question Description = Q37_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2245]

2. (2) [Option ID = 2246]

3. (3) [Option ID = 2247]

4. (4) [Option ID = 2248]

Correct Answer :-

o (4) [Option ID = 2248]



As per latest RDSO Specifications how many total no. of modules (including
Hot Standby & cold standby) of 110 V to 24 V DC-DC converters with 10
Amp ratings shall be required in IPS DC-DC Panel for the 24 V internal
circuit having nominal load requirement of 15 Amp?

(1) 2 Modules
(2) 3 Modules
(3) 4 Modules
(4) 5 Modules

eI d HRETHIT TIFH & AR 24 V 3dRe @b & T 15 Amp
$r NPT s F T, IPS DC-DC =1 H 10 Amp I arer 110V & 24
V DC-DC #=ac¥l Higgel (gl Fsam AR FHloz Tsad Higd) & Fol
fohdsr E&aT &Y TaRTSHar gt

[Question ID = 563][Question Description = Q38_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2249]

2. (2) [Option ID = 2250]

3. (3) [Option ID = 2251]

4. (4) [Option ID = 2252]

Correct Answer :-

e (3) [Option ID = 2251]



Class-C protection modules in power supply system for S&T equipments is
provided for which of the following purpose?

(1) Power line protection at Distribution level

(2) Power line protection against low voltage surges at Equipment level
connected between line and neutral.

(3) Protection against Lightening & transients at various stages of input (AC)
& output (AC/DC)

(4) Protection against Direct Lightening & transients on the S&T system
Building

TH TS &Y 39RO & o fastelr smqfd womelr A Fera-wr quar Algger
frafaad & 8§ 9 3652 & v yae fohar Jrar g2

(1) faawor T W faegd s geam & fow.

(2) amset AR 7ggal & oI S 3IHLUT TR W ol dlecsT Fol o Gl
qTay olse {ET & for.

(3) 3e1qe (TN AR 3M3eye (TR & fafdes woi A omsefdr 3R
&Toh & TEeTh HaT & o

(4) THUsE fawen RMfese w0 seEe arsefeer i it @ g &
oI,

[Question ID = 564][Question Description = Q39_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2253]

2. (2) [Option ID = 2254]

3. (3) [Option ID = 2255]

4. (4) [Option ID = 2256]

Correct Answer :-

e (2) [Option ID = 2254]



In RE-area with PSC sleepers in station yard area, what is the maximum
length of track circuit, using QSPA1 in combination with QSPA1 with B-type
choke at relay end?

(1) 450 Mtr
(2) 670 Mtr
(3) 750 Mtr
(4) 1000 Mtr

IE-STH TAd IE a7 7 dioadr Ty & ar, Rer '8 W diasy
dish o | FYCANT] F FAST # FFAICE Rel H1 39T Hd g, &6
wfehe #r 3ifeehraa o F41 87

(1) 450 Hrex
(2) 670 Hrex
(3) 750 He
(4) 1000 Hrex

[Question ID = 565][Question Description = Q40_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2257]
2. (2) [Option ID = 2258]
3. (3) [Option ID = 2259]
4. (4) [Option ID = 2260]

Correct Answer :- Deleted



Block/Glued joints of DC track circuit, shall be provided away from the
Fouling Mark protecting divergence at point and crossing, at not less than
"X" meter. Which one of the following is the value of "X"?

(1) 13.0 Meter
(2) 6.5 Meter
(3) 3.0 Meter
(4) 1.4 Meter

St & Wihe o solieh/ 7oI3 Siisc I, Gise AT shifer o¥ fawrorss hr &
el arel BI3Telel AR § FH T FA "X" HY $HT gl W, vere faar Sreem|
"X" F Hed HeEAodd # @ T §?

(1) 13.0 #Arex
(2) 6.5 #eX
(3) 3.0 Hex
(4) 1.4 Arex

[Question ID = 566][Question Description = Q41_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2261]

2. (2) [Option ID = 2262]

3. (3) [Option ID = 2263]

4. (4) [Option ID = 2264]

Correct Answer :-

o (3) [Option ID = 2263]



What should be Tolerable Hazard Rate (THR) in terms of Hazards per Hr,
for Safety Integrity Level 4 (SIL 4) enabled systems?

(1) 104 -6 to 107 -5
(2) 10~ -7 to 107 -6
(3) 107 -8 to 107 -7
(4) 10~ -9 to 107 -8

AweT STCEIET ofad 4 (TATSUA 4) 9877 e & fov ufd ger @ail &
Hedl # T @A &7 (SUI3R) FAT glaT Igu?

(1) 10~ -6 to 107 -5
(2) 107 -7 to 107 -6
(3) 107 -8 to 107 -7
(4) 10~ -9 to 107 -8

[Question ID = 567][Question Description = Q42_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2265]

2. (2) [Option ID = 2266]

3. (3) [Option ID = 2267]

4. (4) [Option ID = 2268]

Correct Answer :-

e (4) [Option ID = 2268]



In Open Systems Interconnection (OSl) model for Data Communication,
which Layer is responsible for moving data frames from one node to next
node in a data network?

(1) Physical Layer
(2) Data Link Layer
(3) Network Layer
(4) Transport Layer

STeT FFgfAala & fow e fresd sexwasee (0S|) Alsa #, 321
dAcas HZeT BH FI T A3 § 379! IS TdF of ollel & folv i @5 oY
Sefer 82

(1) Fpforror oY
(2) =1eT ol oY
(3) Aca® T
(4) EEAIE ST

[Question ID = 568][Question Description = Q43_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2269]

2. (2) [Option ID = 2270]

3. (3) [Option ID = 2271]

4. (4) [Option ID = 2272]

Correct Answer :-

e (2) [Option ID = 2270]



How many E1s can a Synchronous Transport Module Level-4 (STM-4)
accommodate?

(1) 32
(2) 63

(3) 126
(4) 252

U [HehleTd SEUIe Ao oldo-4 (T & UA-4) # fohael E1 8 ¥ha 87

(1) 32
(2) 63

(3) 126
(4) 252

[Question ID = 569][Question Description = Q44_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2273]
2. (2) [Option ID = 2274]
3. (3) [Option ID = 2275]
4. (4) [Option ID = 2276]

Correct Answer :-
e (4) [Option ID = 2276]



What is the maximum end to end loss in dB per Km, permitted for OFC
Cable at 1310 nm?

(1) 0.15 dB/Km
(2) 0.25 dB/Km
(3) 0.40 dB/Km
(4) 0.50 dB/Km

1310 FaT HieX 9T HTCehd HIEa el & v 36T gfa ey #,
3 | 3 O T HTThAHA AT fhdled 4T §7?

(1) 0.15 3T 9fa ThelidATeY
(2) 0.25 3&T gfa TFaliARY
(3) 0.40 Sr&T ufd FreldAeY
(4) 0.50 3r&T 9fa TRaATHCT

[Question ID = 570][Question Description = Q45_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2277]

2. (2) [Option ID = 2278]

3. (3) [Option ID = 2279]

4. (4) [Option ID = 2280]

Correct Answer :-

e (3) [Option ID = 2279]



The International Union of Railways, UIC a global organization for Railway
has set up Future Rail Mobile Communications System (FRMCS) project.
Which one of the following technologies is proposed to be used for FRMCS?

(1) LTE

(2) GSM-R

(3) Satellite Communication
(4) None of the Above

Sl Fiadel 36 Ioid, IS foid & fov v affags died o
FEER IS ASA Frgadd eed  (ThIRTATE) aREsEr dr
TATIAT T g1 FRMCS & fore fassiforiaa & & sia & depeiies &1 393Ter
HTel T GG 87

(1) Tordrs

(3) ShTETH-3R

(4) 399T% HOX

(4) 3W=ad H & HI &1 d6r

[Question ID = 571][Question Description = Q46_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2281]
2. (2) [Option ID = 2282]
3. (3) [Option ID = 2283]
4. (4) [Option ID = 2284]

Correct Answer :-
e (1) [Option ID = 2281]



As specified in IR- Telecom Manual-2021-2021, what is the periodicity of
inspection of Control Office and Test Room, at DSTE/ADSTE level?

(1) Monthly

(2) Quarterly

(3) Once in Six Month
(4) Annually

ST fa 31§ 3 2feeiA #Ag3e-2021 # feifdse g, Sivads/udivadss
T 9 O30T At 3N 90T 87 & ST hr ATareehdr 41
g2

(1) AR
(2) FFT A=+

(3) B® AT H TH S
(4) TS &7 &

[Question ID = 572][Question Description = Q47_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2285]

2. (2) [Option ID = 2286]

3. (3) [Option ID = 2287]

4. (4) [Option ID = 2288]

Correct Answer :-

e (1) [Option ID = 2285]



Telecom Radio Towers are to be painted as per requirement of Civil
Aviation Regulations with orange and white colour bands of 5 meters. Re-
painting of Towers should preferably be done within what periodicity?

(1) 1 Year
(2) 2 Year
(3) 3 Year
(4) 5 Year

SUEAR ASAT STadl T AT 355G ATATAT T HGRTHAT F ITHAR
5 HeX & AR AT e @1 &+ &3 & @iy dfeer Far Jar §1 eall &y
vy & e AfAea: & et & gy & s afge?

(1)1 a9
(2)2a9
(3)3aw
(4)5a¥

[Question ID = 573][Question Description = Q48_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2289]

2. (2) [Option ID = 2290]

3. (3) [Option ID = 2291]

4. (4) [Option ID = 2292]

Correct Answer :-

e (4) [Option ID = 2292]



Bending radius under tension during pulling for laying of Armoured OFC
cable specified as per Telecom manual shall always be greater than "X"
times the diameter of the OFC cable. Which one of the following options is
correct for value of "X"?

(1) 5

(2) 10
(3) 20
(4) 30

ColIhIA A3l & HgaR fAfdse aEee e Fae Soe & oo
dret & SRIeT ded & T8 el drell oar §ARN 3NTGHT e &
ST & "THE" AT § 37Tee gl X" &% A & fov fArafefaa & | #ia
ar faseT a@ar &7

(1) 5
(2) 10
(3) 20
(4) 30

[Question ID = 574][Question Description = Q49_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2293]

2. (2) [Option ID = 2294]

3. (3) [Option ID = 2295]

4. (4) [Option ID = 2296]

Correct Answer :-

e (4) [Option ID = 2296]



As specified in Telecom Manual-2021, considering such factors as
audience absorption and maximum ambient noise level, at Railway
Platforms the mean level of sound power shall be "X" dB above the ambient
noise level. Which one of the following options is correct for value of "X"?

1) 5
(2) 10
(3) 30
(4) 60

st fob Telleplar Aegsrer-2021 # fAfdse & Wod wolewld @ =il &
JAMEOT AT fSFRIH IRAT AN TR SF FRHN FT <A H W g,
egfer afda &1 3eg TaX 9f@er e FaT § 9T "UsE” Sidr gl " 3
AT & forr Aeataf@a & & S o [Fea T8 &7

(1)5
2) 10
(3) 30
(4) 60

[Question ID = 575][Question Description = Q50_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2297]

2. (2) [Option ID = 2298]

3. (3) [Option ID = 2299]

4. (4) [Option ID = 2300]

Correct Answer :-

e (2) [Option ID = 2298]



What is the frequency band allotted by WPC (Wireless Planning and
Coordination wing of ministry of communication) in VHF for Indian
Railways?

(1) 146.2 MHz to 167.95 MHz
(2) 300 MHz to 3000 MHz

(3) 907.8 MHz to 954.5 MHz
(4) 2.4 GHz to 5.8 GHz

ARART t@d & folw VHF & WPC (FaR #3eT & el dieter 3R
HA-aT [de1) ganT Mafed g o5 41 §7?

(1) 146.2 MHz to 167.95 MHz
(2) 300 MHz to 3000 MHz

(3) 907.8 MHz to 954.5 MHz
(4) 2.4 GHz to 5.8 GHz

[Question ID = 576][Question Description = Q51_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2301]

2. (2) [Option ID = 2302]

3. (3) [Option ID = 2303]

4. (4) [Option ID = 2304]

Correct Answer :-

e (1) [Option ID = 2301]



In LTE Communication system, the transport of IP data traffic between the
User Equipment (UE) and the External Networks is done by which of the
following sub-system/ entity?

(1) IP Multimedia Core Network Subsystem (IMS)
(2) Mobility Management Entity (MME)

(3) Packet Data Network Gateway (PDN-GW)

(4) Serving Gateway (S-GW)

Todls Hrgfashers fveH # Ior sfdaudc (I3) AN sl dcas & &
15T 32T ¢ftheh &1 grEdie fratoiaa & & e ga-fawcal &5 gaa
TR 1T 87

(1) ASYT ACEHIEAT X dAcas HaOEeH (ASTATH)

(2) FTaefielar gaee 395 (TATAS)
(3) Yehe 3T HAcas died (WSIva-isecy)
(4) wfder ea (vH-Siseey)

[Question ID = 577][Question Description = Q52_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2305]
2. (2) [Option ID = 2306]
3. (3) [Option ID = 2307]
4. (4) [Option ID = 2308]

Correct Answer :- Deleted



Which of the following network device operate primarily on the network
layer of the OSI| model?

(1) Routers
(2) Switches
(3) Repeaters
(4) Hubs

T & & i @1 Acas Ba3d AT §7 & OS| AlS & cash odl
Y HTH FHAT 87

(1) Routers
(2) Switches
(3) Repeaters
(4) Hubs

[Question ID = 578][Question Description = Q53_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2309]

2. (2) [Option ID = 2310]

3. (3) [Option ID = 2311]

4. (4) [Option ID = 2312]

Correct Answer :-

e (1) [Option ID = 2309]



An Internet Protocol address (IP address) is essential to each device
connected to a computer network that uses the Internet Protocol for
communication. What is the address size in IPv6 addressing scheme?

(1) 4 Byte
(2) 16 Byte
(3) 32 Byte
(4) 128 Byte

HOR & ToIU STl Wiekhil & 39AIT Fe dr $Hged wicas ¥ o3
YAF 3YRIUT & foIU TF Selade WSl 9ar (3Sdr qdr1) 3Taed< g
IPv6 T3f8e ThiE H U39 FISe 4T &7

(1) 4 d15c

(2) 16 ST5¢
(3) 32 9Ms¢
(4) 128 S1ST

[Question ID = 579][Question Description = Q54_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2313]
2. (2) [Option ID = 2314]
3. (3) [Option ID = 2315]
4. (4) [Option ID = 2316]

Correct Answer :-
e (2) [Option ID = 2314]



In synchronous Digital Hierarchy (SDH) system used in Indian Railways
OFC system, what is the bit rate for STM-4 Level?

(1) 63 MBPS
(2) 155 MBPS
(3) 622 MBPS
(4) 2488 MBPS

RO {oid 3TURET YuTel H T qjcvqomi?w EEEG) qeTeThH
(THSITT) YOTTell H, THEIUH-4 T & folv & v &7 £7

(1) 63 THEETH
(2) 155 TaEATH
(3) 622 THSHITH
(4) 2488 THEHTH

[Question ID = 580][Question Description = Q55_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2317]

2. (2) [Option ID = 2318]

3. (3) [Option ID = 2319]

4. (4) [Option ID = 2320]

Correct Answer :-

e (3) [Option ID = 2319]



What is known as the core network in LTE?

(1) 3G Core

(2) Evolved Packet Core (EPC)
(3) ISDN- Gateway

(4) GGSN

Toldls H &I dAcads & &9 # & & Srar g2

(1) 331 R
(2) la=faa d%e *X (EPC)

(3) TSTHSIUA- Fed
(4) Sheieaea

[Question ID = 581][Question Description = Q56_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2321]
2. (2) [Option ID = 2322]
3. (3) [Option ID = 2323]
4. (4) [Option ID = 2324]

Correct Answer :-
e (2) [Option ID = 2322]



While laying Telecom cables outside the station limits, which is normally laid
parallel to the track & buried at the depth of minimum 1.0 meter, the cable
shall generally be laid at what distance from the centre of the nearest track,
as specified in IR- Telecom Manual-20217?

(1) 3.50 Mtr
(2) 5.75 Mtr

(3) 10.00 Mtr
(4) 15.00 Mtr

T T TAT F TET SoRIH Fud o 8T, 98 3HA W i &
HATAT fo/T ST § 3R geida 1.0 HeT $1 IEUS 9 SHaIrdr STl
g, 3THAAN 9 Shaol [shedd ¢ & +a | el gl W faors e, shar
fF IR- Telecom Manual-2021 # fafése &2

(1) 3.50 Hrex
(2) 5.75 Hiex
(3) 10.00 #Hrex
(4) 15.00 #Hrex

[Question ID = 582][Question Description = Q57_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2325]
2. (2) [Option ID = 2326]
3. (3) [Option ID = 2327]
4. (4) [Option ID = 2328]

Correct Answer :-
e (3) [Option ID = 2327]



As specified in IR- Telecom Manual-2021 while planning for cabling,
keeping in mind future expansions/ requirements, what is the desirable
minimum percentage (%) of spare conductors to be kept in all Telecom
Cables (Quad/PIJF) carrying 5 or more pairs of conductors?

(1) 10%
(2) 20%
(3) 25%
(4) 30%

St fa a8 3 foeRiA Agsrer-2021 7 fafdse frar amm &, sfesy &
TaEaR/ 3Maeghdisit & <O # @A U, Hdol el I AlotalT aelrd
HHI, 5 AT 37T SIS dTol hsFed o THT Collohld haol (Fars/ UIHSITH)
H W o6l arel ATaRerd (FIIX) FsFedl HT o« ogeidd Jiard (%)
FAT § 2

(1) 10%
(2) 20%
(3) 25%
(4) 30%

[Question ID = 583][Question Description = Q58_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2329]

2. (2) [Option ID = 2330]

3. (3) [Option ID = 2331]

4. (4) [Option ID = 2332]

Correct Answer :-

e (3) [Option ID = 2331]



At present which one of the followings is the ISP (Internet Service
Provider) for Indian Railways?

(1) RCIL
(2) CRIS
(3) BSNL
(4) Reliance Jio Infocomm Ltd

FAHT H [HedATeliad # & il AT Teh ARG {oid o folT Tsuadr
(37Tl /AT YeTdl/ Seelale Jiad Wassy) g7

(1) ARHTSTA

VARED:!

(3) SroTTaT

(4) Romgw 5T seneia foifdes

[Question ID = 584][Question Description = Q59_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2333]

2. (2) [Option ID = 2334]

3. (3) [Option ID = 2335]

4. (4) [Option ID = 2336]

Correct Answer :-

e (1) [Option ID = 2333]



What is not true about Internet Protocol Multi-Protocol Label Switching (IP-
MPLS)?

(1) It is a routing technique in data networks that directs data from one node
to the next node based on labels

(2) The labels are attached to the data packets for transport of data
(3) The labels identify the established paths between end points
(4) It cannot encapsulate the data packets of different network protocols

Scelc Ul Hecl-Uleishid olael ¥aiddr (IP-MPLS) & s & T dar
el 67

(1) T§ 3T dicdsh H Ueh ®Icdl dehaileh ¢ ol olddl o 3TYR 9T 3T &l T
AlS 30Tl A5 d& Hard HLr o

(2) 32T & gRaeT ¥ foT oger o7 e ¥ A o B

(3) o/l US UiscH o drd TATI 9T sl 9gdreT i &

(4) TE 1Tt scas Wcihior & ST YhaH HI Felehoqolc a6l HY Hehell
g

[Question ID = 585][Question Description = Q60_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2337]

2. (2) [Option ID = 2338]

3. (3) [Option ID = 2339]

4. (4) [Option ID = 2340]

Correct Answer :-

e (4) [Option ID = 2340]



In case of provision -48V DC for IP-Exchange, 2 sets of Telecom SMPS
chargers along with 2 sets of batteries shall be provided to ensure minimum
"X" hours of back up at each location. What is the stipulated minimum value
of "X" as per IR- Telecom Manual-20217?

(1) 4 Hour
(2) 8 Hour

(3)12 ¢
(4) 24 Hour

HER-TagaS & foIT -48 diee 3T & UGy F ATHA H, TAF TATT
W wgAdH "X" g F SHHT FARTT Fe F v ellepia varaAdvd
T & 2 ¥¢ o a1 dedl & 2 Je Uae U arudt| IR- Telecom Manual-
2021 & HTAR "X" FT AR 7gAdA7 AT F7 72

(1) 4 €&
(2) 8 €&
(3) 12 e
(4) 24 T

[Question ID = 586][Question Description = Q61_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2341]

2. (2) [Option ID = 2342]

3. (3) [Option ID = 2343]

4. (4) [Option ID = 2344]

Correct Answer :-

e (3) [Option ID = 2343]



62)

Which one of the followings is not the specified feature of the software
driving the Integrated Passenger Information System (IPIS) system?

(1) The software for train indication boards shall display Train number, Train
name, and expected departure/arrival time of Trains, platform no.

(2) It shall be possible for software to acquire updated data of arrival/
departure running trains from Signalling Data Logger system.

(3) It shall be possible for software to acquire updated data of running trains
from NTES/ COIS system.

(4) Provision should be made in software for alteration in the Time Table of
Train.

fA=Rf@a d & Fi9 a1 vhpa a=r g@ar qonen (EHRTH) SOt
I Tollel dTel HIFCAI HT fAfGee faRivar =gl g2

(1) e s a1 & AT @ocdIX ¢ A, ¢ H A7 AR Al Hr
TR IEATH/HARHA AT, TIThIE Aa¢ TG 11d T

(2) ¥y & fov @eafehr 2o aeR @wea & oo« arelr ¢ar &
HRTHA/STATH & HeTdA 3€T IIeqd AT HaIg g

(3) FiFedd F T vadeva/dIsIETH Yomel & =ordl &l & 3eha=
(4) ¢ & TISH ¢ad H scorg & AT Firediyw & waw frar S&r
aifge.

[Question ID = 587][Question Description = Q62_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2345]

2. (2) [Option ID = 2346]

3. (3) [Option ID = 2347]

4. (4) [Option ID = 2348]

Correct Answer :-

o (2) [Option ID = 2346]



Satellite Hub of Indian Railway's VSAT network has now been upgraded to
the latest HX Satellite technology. What is the Network Efficiency provided
by this new configuration in terms of data bandwidth for out-route and in-
route respectively?

(1) 6.5 Mbps & 5.1 Mbps
(2) 12 Mbps & 7.4 Mbps
(3) 32 Mbps & 16 Mbps
(4) 64 Mbps & 32 Mbps

STRAIT Yoid & dIUTUET diecas & Ucolse §d ol 3d Adiddd TIUey
HedATSe dehelieh # 39S AT 31T §1 HALN: H3C-Fe 3N 39-%¢ & fow
ScT asfasy & Heel # 39 AT FichIN2IA GaRT Yald @l oilel arell sicde
SA&TAT AT 872

(1) 6.5 THEYITH & 5.1 THAGITH
(2) 12 THEMTH & 7.4 THEGOH
(3) 32 THEIYITH & 16 THEGTH
(4) 64 THEIYITH & 32 THdGTTH

[Question ID = 588][Question Description = Q63_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2349]
2. (2) [Option ID = 2350]
3. (3) [Option ID = 2351]
4. (4) [Option ID = 2352]

Correct Answer :-
e (2) [Option ID = 2350]



As per IR- Telecom Manual-2021, what is the stipulated inspection schedule
(Target) of Indoor OFC/ Quad cable systems at all stations under jurisdiction
at the level of DSTE/ADSTE?

(1) 100% Stations in Six Month
(2) 100% Stations in a Year
(3) 50% Stations in a Year

(4) 25% Stations in a Year

IR- Telecom Manual-2021-2021 & 38R, STHES/TWITHIS F T W
ST & dgd Tl TAAr W S8R HAIUHHE!/ FA18 ol [O€eH Hl
fuTia @80T A (F8T) F4T 87

(1) ©F #Agled H 100% FeUa
(2) TH ¥ H 100% FAqF
(3) TH T H 50% T
(4) T a¥ H 25% T

[Question ID = 589][Question Description = Q64_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2353]

2. (2) [Option ID = 2354]

3. (3) [Option ID = 2355]

4. (4) [Option ID = 2356]

Correct Answer :-

e (2) [Option ID = 2354]



As per Indian Railway Telecom Manual, minimum how many Walkie-Talkie
Sets (bWatts-VHF) with 100% spare batteries are recommended to be kept
in ART?

(1) 10
(2) 15
(3) 30
(4) 50

ARG {od gTHaR AT ATaell & HTAR, 7geTdH fohelel aiehl-cierl T (5
area-dITauh) Bl 100% HTARSFT dedl o AT UHRET H IW@at bl Awrier
I ST 87

(1) 10
(2) 15
(3) 30
(4) 50

[Question ID = 590][Question Description = Q65_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2357]

2. (2) [Option ID = 2358]

3. (3) [Option ID = 2359]

4. (4) [Option ID = 2360]

Correct Answer :-

e (3) [Option ID = 2359]



Which type of addressing is adopted in Integrated Passenger Information
System (IPIS) Revision-47?

1) Point to Point Addressing

2) Multi Cast Addressing

3) Device & Multi cast Addressing
4) IP based Addressing

Tehlehel ATHT AT YUTTell (IPIS) Helere-4 # fohd 9 &I TSTEar iete
&I 3TATS =T §7

1) caIse ¢ vwage URide

2) #edl hree U

3) Barsw 3 #@edr Fee i
4) 3TSUY 3T TSl

[Question ID = 591][Question Description = Q66_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2361]

2. (2) [Option ID = 2362]

3. (3) [Option ID = 2363]

4. (4) [Option ID = 2364]

Correct Answer :-

o (4) [Option ID = 2364]



Where is the present "Satellite HUB Earth station" of Indian Railway's VSAT
network situated?

(1) New Delhi
(2) Kolkata

(3) Hyderabad
(4) Bangalore

AT od & difde (VSAT) dAcas HT gadAd "dearse g8 7Y weerd"

(1) o5 ool
(2) Sier=pIaT

(3) BexrETg
(4) ST

[Question ID = 592][Question Description = Q67_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2365]
2. (2) [Option ID = 2366]
3. (3) [Option ID = 2367]
4. (4) [Option ID = 2368]

Correct Answer :-
e (1) [Option ID = 2365]



Which of the followings is not a Network Layer Protocol?

(1) Ethernet
(2) IP

(3) ARP

(4) RARP

HFEATii@d # € i & dicas oIy Wieihid ool 67

(1) $a=te
(2) 3

(3) THRY
(4) FIRTAHRYT

[Question ID = 593][Question Description = Q68_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2369]

2. (2) [Option ID = 2370]

3. (3) [Option ID = 2371]

4. (4) [Option ID = 2372]

Correct Answer :-

e (1) [Option ID = 2369]



Which of the following devices is used to connect two or more different
Networks?

(1) Switch
(2) Hub

(3) Repeater
(4) Gateway

fefaf@ad 9 g Rasg &1 393 F ar o & 319+ [ffiesT Jcast
Y Sise & o A Sar 82

(1) Ra=

(2) 5w

(3) YeTacTh
(4) 3red

[Question ID = 594][Question Description = Q69_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2373]

2. (2) [Option ID = 2374]

3. (3) [Option ID = 2375]

4. (4) [Option ID = 2376]

Correct Answer :-

e (4) [Option ID = 2376]



Which of the following internet services is appropriate to access the
computer of your office from remote location?

(1) WWW
(2) IRC

(3) FTP

(4) TELNET

3Tk HIATOIT & HTYEL Hl GIET FATT & THFAH el & foiv HAesiforiad
# T HleT Al 5T qaT IUFFA &7

(1) Sscgsecgssey
(2) TS 3LET

(3) THeHr

(4) Toleie

[Question ID = 595][Question Description = Q70_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2377]

2. (2) [Option ID = 2378]

3. (3) [Option ID = 2379]

4. (4) [Option ID = 2380]

Correct Answer :-

o (4) [Option ID = 2380]



On a double line section when temporary single line working is introduced,
subject to the observance of any other speed restriction already in force,
what shall be the maximum permissible speed of the first train passing over
the temporary single line?

(1) 10 Kmph
(2) 15 Kmph
(3) 25 Kmph
(4) Normal Sectional Speed

ST T AR W STa 3Rl e as 1 % fFar Sdm &, 9ge
& o) el st aifa ufdey & srequrela & 37efie, searly [T omg
¥ I drell ggell ¢ol I Jfashda AT aifd Far ghef?

(1) 10 5T ufa =<
(2) 15 ToralT 9l &
(3) 25 TFHT ufa g
(4) EIAT AR A

[Question ID = 596][Question Description = Q71_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2381]

2. (2) [Option ID = 2382]

3. (3) [Option ID = 2383]

4. (4) [Option ID = 2384]

Correct Answer :-

e (3) [Option ID = 2383]



As per ‘Indian Railways Revised Schedule of Dimensions, 1676 mm BG,
Revised 2022, for the new works, what is the recommended distance from
the centre of the track to the centre of adjacent straight tracks?

(1) 4265 mm
(2) 4720 mm
(3) 5300 mm
(4) 6300 mm

AT Yol ITATAT T 3eTqer 1676 TA#T e (dfieh), gaifaa 2022 &
3TER, ¢ F1 & T, $&F & Hg § M¥ed Al 9eRal F Fu aF
TR gl fohcelr &2

(1) 4265 mm
(2) 4720 mm
(3) 5300 mm
(4) 6300 mm

[Question ID = 597][Question Description = Q72_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2385]

2. (2) [Option ID = 2386]

3. (3) [Option ID = 2387]

4. (4) [Option ID = 2388]

Correct Answer :-

e (3) [Option ID = 2387]



As per ‘Indian Railways Revised Schedule of Dimensions, 1676 mm BG,
Revised 2022' which one of the following works is treated as New/
Additional works?

(1) Laying of new running loops

(2) Extension of existing line

(3) Replacement of points & crossing
(4) None of the above

Si3a {oid Narges Ay 3% SIHRE, 1676 TATH &, Rases 2022
* 3R farafof@a & & sl a1 #& Fusifaiea F@t F & # F7@r
ST 87

(1) T Theier ocd faorer
(2) AlSIer ®s &1 favar
(3) UiseH 3T HITHIT & JTTEATIA
(4) 39T & & FIs 7G0T

[Question ID = 598][Question Description = Q73_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2389]

2. (2) [Option ID = 2390]

3. (3) [Option ID = 2391]

4. (4) [Option ID = 2392]

Correct Answer :-

e (1) [Option ID = 2389]



As per ‘Indian Railways Revised Schedule of Dimensions, 1676 mm BG,
Revised 2022’ for new works and Alterations to Existing works, what is the
recommended maximum (steepest) gradient in station yards, unless special
safety devices are adopted and/or special rules enforced to prevent
accidents in accordance with approved special instructions?

(1) 1in 80
(2) 1in 100
(3) 1 in 400
(4) 1in 1200

AR Tord FNfed 3eeE & 3MamA, 1676 AAT sish, @eifda 2022 &
AR, AT FET AT FAlS[er FRT H Feena & fow, TAa a5 F; Aeeifad
siftras (faaw) ara (@fSte) Fr ¢, Saaw & seAfea ey fade
& ITER gHeasil H kel & fow faey geam susolt sitvar @y
fagat =t o 7 T Srar €2

(1) 80 7 1

(2) 100 # 1
(3) 400 F 1
(4) 1200 & 1

[Question ID = 599][Question Description = Q74_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2393]

2. (2) [Option ID = 2394]

3. (3) [Option ID = 2395]

4. (4) [Option ID = 2396]

Correct Answer :-

o (4) [Option ID = 2396]



DRF in works program of Railway stands for?

(1) Development Reserve Fund
(2) Depreciation Reserve Fund

(3) Development Renewal Fund
(4) Depreciation Renewal Fund

{o1d & &1 FIAHHA H SIRTE (DRF) T AT g7

[Question ID = 600][Question Description = Q75_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2397]

2. (2) [Option ID = 2398]

3. (3) [Option ID = 2399]

4. (4) [Option ID = 2400]

Correct Answer :-

e (2) [Option ID = 2398]



Works less than Rs 2.5 Crores appearing in Pink Book- under Umbrella
works are sanctioned at which level?

(1) Zonal level

(2) Divisional level

(3) Railway Board level

(4) None of the given options

‘fﬁ#?ﬁ-mwé%‘a{ddid 3T arel 2.5 F08 9 F FH & 7 g
W 9 Edipd T Sd 872

(1) 37Tl TR

(2) @5 T

(3) Tod a3 T

(4) BT v fGpedl & @ FIS g

[Question ID = 601][Question Description = Q76_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2401]

2. (2) [Option ID = 2402]

3. (3) [Option ID = 2403]

4. (4) [Option ID = 2404]

Correct Answer :-

e (1) [Option ID = 2401]



The purpose of taking Performance Guarantee from the contractor is to
ensure that the,

(1) Contractor Keeps his tender offer open till its validity

(2) Contractor Completes the work as per contract conditions

(3) Contractor Signs the agreement after issue of LOA

(4) Contractor Maintains the work satisfactorily during maintenance period

SheR ¥ fasures ALY ol T 3T Ig HRdad Ha g i,

(1) SheR 3791 TAfder sedra Fr 3HHT qodr T Goll [T §

(2) SHER JeTaer HT ordl F HTAN HFH QT FLAT o

(3) ShE TAT AR gl & o6 FHFAT I FEAER HLAT &

(4) SheR TEIEE HATT & SRIT HY DI AdlYslelsh &I H TATT @A
&

[Question ID = 602][Question Description = Q77_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2405]

2. (2) [Option ID = 2406]

3. (3) [Option ID = 2407]

4. (4) [Option ID = 2408]

Correct Answer :-

o (2) [Option ID = 2406]



78)
As per Indian Railways Standard General Conditions of Contract (GCC) of

contracts-2020, what is the minimum qualifying criteria for the Contractor’s
Authorized Engineer?

(1) A graduate engineer or equivalent, nominated by the Contractor, no
experience in the relevant field of construction work is required.

(2) A graduate engineer or equivalent, having more than 2 years'
experience in the relevant field of construction work, duly approved by the
Engineer of Railways

(3) A graduate engineer or equivalent, having more than 3 years’
experience in the relevant field of construction work, duly approved by the
Engineer of Railways

(4) A graduate engineer or equivalent, having more than 5 years'
experience in the relevant field of construction work, duly approved by the
Engineer of Railways

I T WA el (SHHHT) F HFAR Shar F HUFT FNFIT HieA
&1 WehTT 87

(1) T TATIF FHAIAIR AT THSE, SheR EaRT ATHd, fFA0T 1 &
T & & FIs AT MTTF el ol
(2) & TATF ST a1 gHFE, [FAT &1 & yEes &7 § 239 @
3T & AT T@A dTell T Told & FSlTIa G fafdad sisgAticd
(3) T EATdS SATAIT IT FHAFE, HA0r a7 & yHEs a7 # 399 &
A% &1 HFHT T@A dT TE {od F SR @RT [ sgAtfed
(4) TF TATTH Soray AT TASE, FF0r & & nmaffs sy # 5av o
WS T AT @A are T Joa F Firal gan fafvea sgafea

[Question ID = 603][Question Description = Q78_ASTE_PA_NAIRJUNE23]

1. (1) [Option ID = 2409]

2. (2) [Option ID = 2410]

3. (3) [Option ID = 2411]

4. (4) [Option ID = 2412]

Correct Answer :-

e (3) [Option ID = 2411]



79)

What is the target timing for turning out Medical Relief Van (MRV) on double
exit siding during emergency?

(1) 15 Min
(2) 25 Min
(3) 30 Min
(4) 45 Min

29 Uesie TSR 9N 3Tl IReda & AfSFo Reiw da (MRV)
I TATAT el &7 oI8F THI F4T £7

(1) 15 A=e
(2) 25 TRt
(3) 30 FA=e
(4) 45 Aee

[Question ID = 604][Question Description = Q79_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2413]

2. (2) [Option ID = 2414]

3. (3) [Option ID = 2415]

4. (4) [Option ID = 2416]

Correct Answer :-

o (1) [Option ID = 2413]



Who is the responsible reporting authority for sending all accidents
messages under the rules as per Indian Railway Accident Manual?

(1) Station Master
(2) Driver/ Loco Pilot
(3) Guard

(4) Senior most officer at accident site

AT Yold qeea faaarae & fAaal & dgd @sft gdear @ &
gt & forv Geder RafEsr wfgsdr #ia §2

(1) TSAqT HATEST

(2) 3T5a/ wIehl 9TIAC

(3) M3

(4) gHear TUS 9T 3UReyd ased®m St/ I FHAf

[Question ID = 605][Question Description = Q80_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2417]

2. (2) [Option ID = 2418]

3. (3) [Option ID = 2419]

4. (4) [Option ID = 2420]

Correct Answer :-

e (1) [Option ID = 2417]



Flange of the Rail-wheel sometimes wears to form a knife edge which
becomes unsafe when radius of the flange at the tip is less than "X", where
which of the following is the value of "X"?

(1) 0.5 mm
(2) 3.0 mm
(3) 13.0 mm
(4) 25.0 mm

Yol & gfgar &1 fasher g3 fharr (gier woler) hef-shel =meh b o &
A o9 S1ar & S 3T 87 ST § S e 9w e gu fhan
(BT WoiaT) =hl 3T "UaFE" § &#F Bidl @, 9igl Fdloiad § § "Uag"
FT AT FAT &2

(1) 0.5 Telr #HeX
(2) 5.0 TAelr #rex
(3) 13.0 fAel Hex
(4) 25.0 f&el Hex

[Question ID = 606][Question Description = Q81_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2421]
2. (2) [Option ID = 2422]
3. (3) [Option ID = 2423]
4. (4) [Option ID = 2424]

Correct Answer :- Deleted



In case of a running train meet with an accident, which one of the followings
is the foremost important duties of a Guard of the train?

(1) Make a quick survey of the Casualties, injuries, and damage to the rolling
stock.

(2) Render First Aid to injured persons & take action to save lives.
(3) Preserve and Safe-guard all clues of probable cause of accident.

(4) Ensure protection of the adjacent line/lines and then protect the same
line in accordance with GR 6.03 and SR 6.03.1.

oIl &of & AT gl 1 A A, Tk o7 & S &1, eAfaf@d
H ¥ Slddar §ad Agcaqol heled g?

(1) &, =t 3T Aol ik H §U JHaAE FI caRd TAEIT FH|
(2) Trarer SafFaat # srafRe RfScaT Yae HeT 3R o aae A
FRATS HLaAT|

(3) gEieaTT & HemIfad FROT & Fell FIET FT TaTT 3N FIETT |

(4) 3=t STgaA/ogaAl =1 L& Hheliead Y AR Y Si3m 6.03 3R
THIN 6.03.1 % 3HTHR 3H olgel I FEI F

[Question ID = 607][Question Description = Q82_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2425]

2. (2) [Option ID = 2426]

3. (3) [Option ID = 2427]

4. (4) [Option ID = 2428]

Correct Answer :-

e (4) [Option ID = 2428]



As per Accident manual, all types of Train Derailments accidents are
classified in which one of the following Class?

(1) Class A
(2) Class B
(3) Class C
(4) Class D

HRAT Yofd gHeaT [ATATael & 3TaR, Tefl YR F & & 9l § 3
arel gHeaATsl 1 fAFafafad & @ &y Ao & geffea &Far amr &2

(1) Sofr A
(2) 2ofr B
(3) &0t C
(4) 30 D

[Question ID = 608][Question Description = Q83_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2429]

2. (2) [Option ID = 2430]

3. (3) [Option ID = 2431]

4. (4) [Option ID = 2432]

Correct Answer :-

o (4) [Option ID = 2432]



There is one single Demand for Grant for Works Budget. Which of the
following is this demand no. for Signalling and Telecommunication works?

(1) Demand no. 15
(2) Demand no. 16
(3) Demand no. 33
(4) Demand no. 35

T goic & foIT 3feferel T U & AT 5| Resfoler 3R qrEar Fl &
fore Teafai@d & & I8 ART §Ear Hiedr §?

(1) AT &A1 15
(2) AT HEAT 16
(3) ATIT FEAT 33
(4) AT FE&AT 35

[Question ID = 609][Question Description = Q84_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2433]

2. (2) [Option ID = 2434]

3. (3) [Option ID = 2435]

4. (4) [Option ID = 2436]

Correct Answer :-

o (2) [Option ID = 2434]



Any person who wilfully obstructs or prevents any railway servant in
discharge of his duties, shall be dealt as per which Section of Railways Act
19897

(1) 139
(2) 146
(3) 151
(4) 153

FIS 87 e ST ST el Yo7 @aeh &I 38k Foedl & foded H
ST STl & AT UshdT &, 39+ [W@oih Iod fafaad 1989 Fr o amr
F ded $Ndls I ST ?

(1) 139
(2) 146
(3) 151
(4) 153

[Question ID = 610][Question Description = Q85_ASTE_PA_NAIRJUNE23]
1. (1) [Option ID = 2437]

2. (2) [Option ID = 2438]

3. (3) [Option ID = 2439]

4. (4) [Option ID = 2440]

Correct Answer :-

e (2) [Option ID = 2438]

Topic:- ASTE_PB_NAIRJUNE23

1)



Which is the fastest train in India?

(1) Gatiman Express

(2) Vande Bharat Express

(3) Bhopal-Delhi Shatabdi Express
(4) Tejas Express

STRT &I A ool dTolel aTell ¢l hied T §2

(1) AT TFEIH

(2) @¢ 9IRA TEFEYHE

(3) SITo-Soal QAUATST TSI
(4) AT TEFEUH

[Question ID = 611][Question Description = Q01_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2441]

2. (2) [Option ID = 2442]

3. (3) [Option ID = 2443]

4. (4) [Option ID = 2444]

Correct Answer :-

o (2) [Option ID = 2442]



Which is the only Indian state with English as its' official language?

(1) Goa

(2) Kerala
(3) Mizoram
(4) Nagaland

33T hr TR ATST aTell AT $INAT g Hid T g7

(1) 3Mar
(2) e
(3) F=H
(4) IS

[Question ID = 612][Question Description = Q02_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2445]
2. (2) [Option ID = 2446]
3. (3) [Option ID = 2447]
4. (4) [Option ID = 2448]

Correct Answer :- Deleted



Cheetah brought from Namibia recently in March-2023, is kept in which
national park of India?

(1) Bandhavgarh national park
(2) Kanha national park

(3) Kuno national park

(4) Pench national park

ST Bl & AR 2023 & AHEAT & A 3T Aar F AT F Fw T
31 H @M A0?

(1) STeaeTe TSET 3eATeT
(2) FIegT TSEA JeATH
(3) F=r TeLrT 3
(4) 9T TSI 3eTH

[Question ID = 613][Question Description = Q03_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2449]

2. (2) [Option ID = 2450]

3. (3) [Option ID = 2451]

4. (4) [Option ID = 2452]

Correct Answer :-

e (3) [Option ID = 2451]



In terms of area, which amongst the followings is the largest state of India?

(1) Madhya Pradesh
(2) Maharashtra

(3) Rajasthan

(4) Uttar Pradesh

& Ao I Troe W, Tedfaad # § Hid-ar g HI a8 937 Uo7 g7

(1) TeT ST
(2) FERTSE
(3) Tr=TEATH
(4) 39T 9G2T

[Question ID = 614][Question Description = Q04_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2453]
2. (2) [Option ID = 2454]
3. (3) [Option ID = 2455]
4. (4) [Option ID = 2456]

Correct Answer :-
e (3) [Option ID = 2455]



Which is the capital of the Union Territory Lakshadweep amongst the
followings?

(1) Port Blair

(2) Male

(3) Havelock Island
(4) Kavaratti

fFfofaa &§ & g MAT IS F8TEdIg I TSTeTel Sid A g7

(1) 91 ST
(2) AT

(3) gaeiish gdia
(4) FaRT

[Question ID = 615][Question Description = Q05_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2457]

2. (2) [Option ID = 2458]

3. (3) [Option ID = 2459]

4. (4) [Option ID = 2460]

Correct Answer :-

o (4) [Option ID = 2460]



In which year was the first passenger Railway line opened in India?

(1) 1836
(2) 1845
(3) 1853
(4) 1856

STRT & 9ol ITT I oI5 o8 gy & @il a5 2A?

(1) 1836
(2) 1845
(3) 1853
(4) 1856

[Question ID = 616][Question Description = Q06_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2461]

2. (2) [Option ID = 2462]

3. (3) [Option ID = 2463]

4. (4) [Option ID = 2464]

Correct Answer :-

o (3) [Option ID = 2463]



Which amongst the followings is the train with longest route in India?

(1) Basuki Express
(2) Vivek Express

(3) Gurudev Express
(4) Himsagar Express

TaRIEa # ¥ 9Ra & 999 o & aroll ¢of i Al g2

(1) STET TFEHH
(2) A9 TEEua
(3) T¥cT TFHIH
(4) BAENRR TFEYH

[Question ID = 617][Question Description = Q07_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2465]

2. (2) [Option ID = 2466]

3. (3) [Option ID = 2467]

4. (4) [Option ID = 2468]

Correct Answer :-

o (2) [Option ID = 2466]



Which one of the followings is the deepest Ocean in the world?

(1) Atlantic Ocean
(2) Arabian Ocean

(3) Indian Ocean
(4) Pacific Ocean

efaf@a & @ #ia @1 32g &7 gad T AR 82

(1) 3icdifeer AGENER
(2) 3 HETERR

(3) fe FEEmR

(4) 9T FEHATIR

[Question ID = 618][Question Description = Q08_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2469]
2. (2) [Option ID = 2470]
3. (3) [Option ID = 2471]
4. (4) [Option ID = 2472]

Correct Answer :-
e (4) [Option ID = 2472]



Which Railway Production Unit has produced "Train 18" now called
"Vande Bharat"?

(1) Integral Coach Factory (ICF), Perambur
(2) Rail Coach Factory (RCF), Kapurthala

(3) Modern Coach Factory (MCF), Rae Bareli
(4) Patiala Locomotive Works (PLW), Patiala

fore tera disereret gfete o "¢t 18" @ famror fFar § o9 39 ag smRa”
e ST 57

(1) Erarer @ therdl (JTSHITH), IIFe
(2) ¥ = Herdl (3TREITE), HYIell

(3) Alsal I therg! (THHIUT), TTSLAl
(4) 9Tl SiptAICT gl (dIToiSecy), TiedTell

[Question ID = 619][Question Description = Q09_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2473]

2. (2) [Option ID = 2474]

3. (3) [Option ID = 2475]

4. (4) [Option ID = 2476]

Correct Answer :-

e (1) [Option ID = 2473]



10)

At which of following Railway Stations is the world's longest platform?

(1) Hubbali Junction
(2) Gorakhpur Junction
(3) Kharagpur Junction
(4) Kollam Junction

FaiEa & ¥ 59 99 9 9 999 &7 G998 oF=T SehH 87

(1) gerell SieFereT

(2) IIREYT STerered
(3) TWSIYY SRl
(4) FroaH T

[Question ID = 620][Question Description = Q10_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2477]

2. (2) [Option ID = 2478]

3. (3) [Option ID = 2479]

4. (4) [Option ID = 2480]

Correct Answer :-

e (1) [Option ID = 2477]



On which day World Hindi Day is celebrated every year with an aim of
promoting Hindi language as a global language across the world?

(1) 10 January
(2) 26 January
(3) 14 September
(4) 14 November

fEar smar 1 O ox & ARG oW & FT H FeET & F 3T
gfaay fFa &1 =1 fazg &Er feaw aaman sar 82

(1) 10 ST=Tadr
(2) 26 ST
(3) 14 dsT
(4) 14 FgsX

[Question ID = 621][Question Description = Q11_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2481]

2. (2) [Option ID = 2482]

3. (3) [Option ID = 2483]

4. (4) [Option ID = 2484]

Correct Answer :-

e (1) [Option ID = 2481]



Name the national master plan for multimodal connectivity to facilitate
seamless movement of people, goods, and services from one mode of
transport to another mode of transport?

(1) Bharatmala Pari-yojana

(2) Pradhan Mantri Gati Shakti Project
(3) Jalmala Pari-yojana

(4) All of the above options are correct

qRAE & Teh WU H G N & URage H o, a3t 3 dansi
& forsTer sarerAe &1 giaur & fov AcdAsT FafFead & v wdT

FTECT Tolled T ATH ddTu?

(1) ARTATAT IRATSTAT
(2) TITAHST T 2ATFd TISTar
(3) STETATAT TRATSTAT
(4) 3ueFa gt faFea @gr &

[Question ID = 622][Question Description = Q12_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2485]

2. (2) [Option ID = 2486]

3. (3) [Option ID = 2487]

4. (4) [Option ID = 2488]

Correct Answer :-

o (2) [Option ID = 2486]



Name the three steam locomotives those hauled India’s first passenger
train?

(1) Sahib, Sindh, and Sultan

(2) Shivalik, Satpura and Aravalli
(3) Marwar, Malwa and Deccan
(4) Sutlej, Jhelum, and Ravi

ST AT 9gall ITAT ¢ ol Tolled aTel dlel HTT Solall o oATH SdTe?

(1) Tigs, fFer 3R Feara

(2) Rranferr, Fa9sT 3R 3RTEET
(3) ARGETS, ATl 3T SeFehed
(4) Terotet, Serd 3T Tt

[Question ID = 623][Question Description = Q13_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2489]
2. (2) [Option ID = 2490]
3. (3) [Option ID = 2491]
4. (4) [Option ID = 2492]

Correct Answer :-
e (1) [Option ID = 2489]



Who was the chairman of the constituent Assembly formed to frame Indian
constitution after India got independence?

(1) Mahatma Gandhi

(2) Dr. Rajendra Prasad

(3) Sardar Vallabh bhai Patel
(4) Dr. Bhimrao Ambedkar

Hd &I TadadT B & 9 dRA™T AU Fl g0 & v afsa
gfaurd s o 37eTeT Hia A2

(1) FGTcAT ey

(2) 31. Telg wEE

(3) TR ool ATS 9co
(4) 3T, frAg 3Mas

[Question ID = 624][Question Description = Q14_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2493]

2. (2) [Option ID = 2494]

3. (3) [Option ID = 2495]

4. (4) [Option ID = 2496]

Correct Answer :-

e (2) [Option ID = 2494]



15)

A cylindrical object is wrapped fully with an aluminium foil, which also
includes circular base on both sides. Total Area of the circular bases of the
cylinder on one of the bases is 314 square Centimeters and height of the
cylinder is 10 centimeters. Find out how much is the iotal area covered by
the aluminium foil all around the cylindrical object?

(1) 2512 Square Centimeters
(2) 1884 Square Centimeters
(3) 1256 Square Centimeters
(4) 628 Square Centimeters

T JoAHR aEG H T NE § ToIHIGTA Tosll (BiFel) & AT ot
I g, forEd gl % & JaeR WY o anfdd g1 S9e & gl AR
o AR ATURT &1 Hol &Ta0hor 314 @91 AT ¢ 3N Foied &1 Fa18 10
HEAET &1 77 T &F soa=r avg & @i 3R tegfRfaas s
GaRT FHay fHaT AT FoT SAB fheer 82

(1) 2512 a1 TEHRET
(2) 1884 a1 TETHET
(3) 1256 a1 TETHET
(4) 628 o7 TrHET

[Question ID = 625][Question Description = Q15_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2497]

2. (2) [Option ID = 2498]

3. (3) [Option ID = 2499]

4. (4) [Option ID = 2500]

Correct Answer :-

e (3) [Option ID = 2499]



What will be the effective resistance across the circuit consisting of resistors
R1, R2, R3 & R4, when R1 and R2 are connected in parallel, and R3 & R4
are connected in series to the said combination of R1 and R2, if R1=8.0
Ohm; R2=12.0 Ohm, R3=2.0 Ohm & R4=8.0 Ohm?

(1) 14.8 Ohm
(2) 6.4 Ohm

(3) 3.24 Ohm
(4) 30.2 Ohm

fciel R1, R2, R3 X R4 & g Hfche H WeATdT WiATer T I, STaf
R1 3R R2 I @A & SIST S g, 3 R3 3R R4 sf@on (d@Wlte)) &
R1 3 R2 & 3&d ®Iloi & 3 8ld ¢, & R1 = 8.0 3leA; R2=12.0
3ied, R3=2.0 311e#d 3i¥ R4=8.0 3figa?

(1) 14.8 3iEH
(2) 6.4 3EA

(3) 3.24 FEA
(4) 30.2 FEA

[Question ID = 626][Question Description = Q16_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2501]

2. (2) [Option ID = 2502]

3. (3) [Option ID = 2503]

4. (4) [Option ID = 2504]

Correct Answer :-

e (1) [Option ID = 2501]



A train has travelled from Station A to Station B with an average speed of
30 Kmph. Train has stopped for 10 Min at Station B and from Station B to
Station C travelled with an average speed of 60 kmph. The distance
between Station A and Station B is 10 kms and distance between Station B
and Station C is 20 kms. Which of the following options is correct for the
average speed of the train between Station A and Station C?

) 30 Kmph
) 36 Kmph
) 45 Kmph
4) 60 Kmph

(1
2
(3
(

TH T 7 TT AT AT B dF 30 7 ufa g¢ Fr siaa afa @ 3k
HImEr @7 | g7 10 Ade & fow & B W hT 3R ¥ B & ¥
C a% 60 fraly ufa & &1 3itaa aifa & amar i 81 e AR e
B drar Frgdr 10 fradT § 3k ¥eret B 3k ¥eerw ¢ & Fr g 20
TFHT §1 T A3 T C & oI ¢ #T Araa 1fa & fav Reafafaa
H ¥ i @1 AFeT TEr 872

(1) 30 fretiadter ufa ger
(2) 36 FrendTeT ufa =@er
(3) 45 Tren#Te 9fa =er
(4) 60 feraliaiex ufa =er

[Question ID = 627][Question Description = Q17_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2505]

2. (2) [Option ID = 2506]

3. (3) [Option ID = 2507]

4. (4) [Option ID = 2508]

Correct Answer :-

e (2) [Option ID = 2506]



The water tank with length 4 meter, breadth 1.5 meter and height 1 meter
are filled with water. If it is to be emptied using a bucket of capacity 12 litres,
find how many times the bucket should be used to empty the tank
completely?

90 times
200 times
200 times
5000 times

(1
(2
(3
(4

L e e I ]

Tl 7 T o s 4 A iz 1.5 7 e 3R I 1 A @ e
| O F ol g5 €1 TG 3H 12 7IeT &TACT aTe STec! § Wrel AT ST
g, dl Aa Hriaw & <hr w1 i avE § el Fa F AT aredr F hder
I 39T T ST =nfge?

(1) 50 I
(2) 200 SR
(3) 500 X
(4) 5000 X

[Question ID = 628][Question Description = Q18_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2509]

2. (2) [Option ID = 2510]

3. (3) [Option ID = 2511]

4. (4) [Option ID = 2512]

Correct Answer :-

e (3) [Option ID = 2511]



Two cubes each of volume 64 Cub Cm are joined end to end. What will be
the surface area of the resulting cuboid?

(1) 48 Square Cm
(2) 80 Square Cm
(3) 96 Square Cm
(4) 160 Square Cm

64 T QAT AT arel of T Y & Y aF 2 g¢ g1 IROmAT TanT
T qSETT SFHS FAT gam?

(1) 48 g37 BT
(2) 80 g3T FAT
(3) 96 T |
(4) 160 T3T T

[Question ID = 629][Question Description = Q19_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2513]

2. (2) [Option ID = 2514]

3. (3) [Option ID = 2515]

4. (4) [Option ID = 2516]

Correct Answer :-

o (4) [Option ID = 2516]



The Father's age is Six times of his Son’'s age. Four years hence, the age
of the Father will be Four times of his Son’s age. The present ages, in years,
of the Son and the Father are, respectively.

(1)

(2) 4 and 24 Years
(3) 5 and 30 Years
(4) 6 and 36 Years

3 and 24 Years

Tar s 31g 38+ 97 H Jg H BF = ¢l TR a¥ S, Far Fr 3y
3Hh YA I Y W AR IE gEN 9 3R Far # adAe g, ast |,
FHT: &l

(1)3 and 24 ¥
(2) 4 and 24 a¥
(3)5and 30 @Y
(4) 6 and 36 ¥

[Question ID = 630][Question Description = Q20_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2517]

2. (2) [Option ID = 2518]

3. (3) [Option ID = 2519]

4. (4) [Option ID = 2520]

Correct Answer :-

o (4) [Option ID = 2520]



3 labourers can till 5 acres of land in 30 days. How many days 12 labourers
will take to till 8 acres of land?

(1) 20 Days
(2) 30 Days
(3) 45 Days
(4) 60 Days

5 AsteY 30 et # 5 vehs ST S Wb 81 8 Ths FTHIT Slda H 12
Hoell @1 fohetel &1 oratar?

[Question ID = 631][Question Description = Q21_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2521]

2. (2) [Option ID = 2522]

3. (3) [Option ID = 2523]

4. (4) [Option ID = 2524]

Correct Answer :-

e (1) [Option ID = 2521]



In a forward-biased photo-diode with increase in incident light intensity, the
diode current:

(1) Increases

(2) Remains constant
(3) Decreases

(4) None of the above

AT ST Al H geid & T FATTAF-ATES BIe-SMEE H S8
LIIEL

(1) gadr &

(2) =R w|aT &

(3) Eredr &
(4)3RFT & F FI 7G0T

[Question ID = 632][Question Description = Q22_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2525]

2. (2) [Option ID = 2526]

3. (3) [Option ID = 2527]

4. (4) [Option ID = 2528]

Correct Answer :-

e (1) [Option ID = 2525]



The ozone layer restricts which of the following?

(1) X-rays and gamma rays
(2) Visible light

(3) Infrared radiation

(4) Ultraviolet radiation

3 Wa Aeaf@a & 8 frasr afaafta s 82

[Question ID = 633][Question Description = Q23_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2529]

2. (2) [Option ID = 2530]

3. (3) [Option ID = 2531]

4. (4) [Option ID = 2532]

Correct Answer :-

e (4) [Option ID = 2532]



Which one of the followings is the longest distance travelling train in India?

(1) Vivek Express

(2) Himsagar Express

(3) Silchar Super-fast Express
(4) Navyug Express

AT H HIH o6l G 9 e arell ¢of TAe=iioi@d H @ @i & §7?

(1) g Twavw

(2) RHAERR weFadH

(3) =R g BT TFEWH
(4) T TFEIH

[Question ID = 634][Question Description = Q24_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2533]

2. (2) [Option ID = 2534]

3. (3) [Option ID = 2535]

4. (4) [Option ID = 2536]

Correct Answer :-

e (1) [Option ID = 2533]



25)

Which of the following commodity, accounts for the maximum volume of
goods transported by the railways in India?

(1) Iron and Steel
(2) Mineral Ol
(3) Coal

(4) Fertilizer

feraff@a & @ &ia @ g ARAF 3009 @)1 Ao @ fhdd J=T
¥ giaed & o A= AT 87

(1) =T 3T ST
(2)@fas a=

(3) g

(4) 38F

[Question ID = 635][Question Description = Q25_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2537]

2. (2) [Option ID = 2538]

3. (3) [Option ID = 2539]

4. (4) [Option ID = 2540]

Correct Answer :-

e (3) [Option ID = 2539]



Which is the highest award for gallantry during peace time in India?

Mahaveer Chakra
Param Vir Chakra
Kirti Chakra
Ashok Chakra

(1
(2
(3
(4

L e S

ARA # i & gRie dRar & [T waled PR His 67 82

[Question ID = 636][Question Description = Q26_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2541]

2. (2) [Option ID = 2542]

3. (3) [Option ID = 2543]

4. (4) [Option ID = 2544]

Correct Answer :-

o (4) [Option ID = 2544]



Which of the following gases has an important role in maintaining
atmospheric temperature?

(1
(2
(3
(4

Nitrogen

O
X
At
Q
®
=]

Carbon Dioxide

YHASNT ATIAT 1 AT WA A ferafaf@a # & 5w 3w & Ageage’

[Question ID = 637][Question Description = Q27_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2545]
2. (2) [Option ID = 2546]
3. (3) [Option ID = 2547]
4. (4) [Option ID = 2548]

Correct Answer :-
e (4) [Option ID = 2548]



Who is considered as the Father of Modern Hindi literature in India?

(1) Bharatendu Harishchandra
(2) Munshi Premchand

(3) Mahadevi Verma

(4) Ramdhari Singh Dinkar

ARG H MY RS @iy &1 St ohd AT ST7em 872

[Question ID = 638][Question Description = Q28_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2549]

2. (2) [Option ID = 2550]

3. (3) [Option ID = 2551]

4. (4) [Option ID = 2552]

Correct Answer :-

e (1) [Option ID = 2549]



Which Indian playback singer, lyricist & musician was conferred with Bharat
Ratna award in 20197

(1) Bhimsen Joshi
(2) Bhupen Hazarika
(3) Gulzar

(4) Lata Mangeshkar

e ARl wred amrres, S 3R WA 2019F SR Tod REHPR
 geATTara R arar ar?

[Question ID = 639][Question Description = Q29_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2553]

2. (2) [Option ID = 2554]

3. (3) [Option ID = 2555]

4. (4) [Option ID = 2556]

Correct Answer :-

e (2) [Option ID = 2554]



For the equation, Square of (A + B) + Square of (A - B), which one of the
followings is the correct answer?

4AB

8AB

(Square of A + Square of B)
2(Square of A + Square of B)

(1
(2
(3
(4

LR S e

THRIOT (T + &f) F T + (T - &) F F97, & ow F=afo@a 5 F 49
T el 3aY g?

(1)4

) 4TS
2) 8ud
)
)

—

(3) (T ST FIT + o &7 FaT)
(4) 2(T &7 T + & Hr )

[Question ID = 640][Question Description = Q30_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2557]

2. (2) [Option ID = 2558]

3. (3) [Option ID = 2559]

4. (4) [Option ID = 2560]

Correct Answer :-

e (4) [Option ID = 2560]



Which one of the followings is the most appropriate answer regarding the
range of (a) output power and (b) efficiency of a commercially available
solar cell using single junction pn semiconductor?

(1
(2
(3
(4

a) 1to 5 Watt & (b) 15% to 25%

a) o to 20 Watt & (b) 25% to 50%
a) 20 to 50 Watt & (b) 50% to 75%
a) 50 to 100 Watt & (b) 75% to 90%

o e
e T e B s e

HTer Sl GIeeT THISsSaed &I 39T b agdias &9 & 9o
I o 1 (T) 3M3eqe 9aY AT () ST 1 HAT & Hoer 7 FeAtaigd
H & FleT W3 TIH 39GFA §?

(1)(®) 1& 5ae 3T (@) 15% F 25%

(2) () 58 20 e 3T () 25% & 50%
(3) (T) 20 & 50 gic 3R () 50% & 75%
(4) (T) 50 F 100 are 3T (&) 75% & 90%

[Question ID = 641][Question Description = Q31_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2561]

2. (2) [Option ID = 2562]

3. (3) [Option ID = 2563]

4. (4) [Option ID = 2564]

Correct Answer :-

e (1) [Option ID = 2561]



Which of the following sectors is a part of PM Gatishakti project?

(1) Rail Transport

(2) Bharat Net

(3) Inland Waterways

(4) All the above i.e., option (1), (2) & (3)

afEa & ¥ =9 ar &89 dvx afauaea o & Tamr §2

[Question ID = 642][Question Description = Q32_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2565]

2. (2) [Option ID = 2566]

3. (3) [Option ID = 2567]

4. (4) [Option ID = 2568]

Correct Answer :-

o (4) [Option ID = 2568]



Under RTI Act, after receiving the request for obtaining information from an
applicant, in how many days shall Public Information Officer provide the
information to the applicant?

(1) Within 15 Days of the receipt of the request for information
(2) Within 30 Days of the receipt of the request for information
(3) Within 60 Days of the receipt of the request for information
(4) Within 90 Days of the receipt of the request for information

HAE3TS HfAfdarm & dgd, FhEl 3desh & Faar Yrod Hld AT HAUT
ured gl & 91, ol Fae TFH 3desw w1 hae et # et
UeTel Hiam?

(1) I F foIT 3ty ured gled & 15 feall & ik
(2) FI=r & forw 3y gred gl & 30 feal & efieX
(3) FIe & forw 3reiyr wred gl & 60 feat & e
(4) T & forw sty gred gl & 90 fal & ¥

[Question ID = 643][Question Description = Q33_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2569]

2. (2) [Option ID = 2570]

3. (3) [Option ID = 2571]

4. (4) [Option ID = 2572]

Correct Answer :-

e (2) [Option ID = 2570]



34)

Who is the present Chairman and CEO of Indian Railway?

(1) Shri Vinay Mittal

(2) Shri Anil Kumar Lahoti
(3) Shri Suneet Sharma

(4) None of the above is true

AR (o9 & gaAe Heger AN @i wig 2

(1) & Taag T

(2) #r AT FAR AEET

(3) & Al erAT
(4)39Riead H ¥ #Is o gg 78 &

[Question ID = 644][Question Description = Q34_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2573]

2. (2) [Option ID = 2574]

3. (3) [Option ID = 2575]

4. (4) [Option ID = 2576]

Correct Answer :-

e (2) [Option ID = 2574]



35)

What are the factors which may cause corrosion in metals over a period?

(1) Weather conditions

(2) Harmful gases & Chemicals

(3) Biological Substances

(4) All of the above options are true

dHIT W FRH & A FAG F WY U1 H HEOT H HROT & Fohel
&

(1) #taw Fr =T

(2) gifeeRes I Ta @ET
(3) e geret

(4) 3RIFT et ahed TcT €

[Question ID = 645][Question Description = Q35_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2577]

2. (2) [Option ID = 2578]

3. (3) [Option ID = 2579]

4. (4) [Option ID = 2580]

Correct Answer :-

o (4) [Option ID = 2580]



36)

Which law stated by observation of developments that, the number of
transistors in a dense Integrated Circuit (IC) will double in about every two
years?

(1) Kirchoff's Law
(2) Bell's Law

(3) Moor's Law
(4) Graham's Law

e & sraelisa ¥ FiaT T FA Foal ¢ 6, O Thiga Fide (IC) &
EIfSTFeY T HEAT ST &Y &l Aol H GIefer &1 Shmuei?

(1) e F1 @
(2) &1 &1 TaH
(3)HT &1 fomA

(4) T F1 FFH

[Question ID = 646][Question Description = Q36_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2581]

2. (2) [Option ID = 2582]

3. (3) [Option ID = 2583]

4. (4) [Option ID = 2584]

Correct Answer :-

e (3) [Option ID = 2583]



37)

Maximum how many seats are available in Upper House i.e., Rajya Sabha
of Indian Parliament?

(1) 238
(2) 250
(3) 543
(4) 545

HAT HHS & 3Td Hed Al UodqAT H i8aad hadr @i 3Ueey
&2

(1) 238
(2) 250
(3) 543
(4) 545

[Question ID = 647][Question Description = Q37_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2585]

2. (2) [Option ID = 2586]

3. (3) [Option ID = 2587]

4. (4) [Option ID = 2588]

Correct Answer :-

e (2) [Option ID = 2586]



38)

A recently launched initiative of Government of India named "Mission LIFE",
is primarily aimed at which of the followings?

(1) Developing Indian Economy to USD & Trillion GDP
(2) Adopting lifestyle for sustainable environment

(3) Developing National Infrastructure by 2030

(4) To eradicate Malnutrition in India

HA TLHR AT el 8 7 € T IS Ueh ugel Tordent A1 "HeeT 8w
g 7T &7 ¥ famafofaa # @ e segem a &2

(1) AT srdegaeyr & 5 feforge AR sew & g g% Twfaa
hidl

(2) wHTF TIERer & v SEaeter e

(3) 2030 T TS FiAAET e FT fAPHra FLar

(4) 9IRS H FANOT FN A FAT

[Question ID = 648][Question Description = Q38_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2589]

2. (2) [Option ID = 2590]

3. (3) [Option ID = 2591]

4. (4) [Option ID = 2592]

Correct Answer :-

e (2) [Option ID = 2590]



39)

Which of the followings determines the loudness of sound wave?

(1) Speed

(2) Wavelength
(3) Frequency
(4) Amplitude

faafof@a # @ #iq wfa oo f dear Fuifa s 82

(1) anfer
(2) e S
(3) Mgt

(4) HTaTH

[Question ID = 649][Question Description = Q39_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2593]

2. (2) [Option ID = 2594]

3. (3) [Option ID = 2595]

4. (4) [Option ID = 2596]

Correct Answer :-

o (4) [Option ID = 2596]



40)

Which of the following cities of India, does not have the operating Metro
Rail service as on date?

(1) Jaipur
(2) Kochi
(3) Nagpur
(4) Bhopal

AT & Feafaf@ag & ¥ g 98T # 319 9% Al {9 991 gaifeg
8 87

(1) S
(2) ST
(3) ARTR

2

(4) s7aTer

[Question ID = 650][Question Description = Q40_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2597]

2. (2) [Option ID = 2598]

3. (3) [Option ID = 2599]

4. (4) [Option ID = 2600]

Correct Answer :-

e (4) [Option ID = 2600]



Who amongst the followings is the Chairman of Central Hindi Committee?

(1) President

(2) Vice President
(3) Prime Minister
(4) Home Minister

frafaf@a # @ w9 Fia RS afafa & sreger 2

1
2
3
4

1

4

)

) 39T ISgHt
; .

)

i

(
(
(
( EZE)

5

[Question ID = 651][Question Description = Q41_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2601]

2. (2) [Option ID = 2602]

3. (3) [Option ID = 2603]

4. (4) [Option ID = 2604]

Correct Answer :-

e (3) [Option ID = 2603]



In collaboration with which organisation, E-Maha Shabdkosh has been
developed by Department of Official Language under Ministry of Home
affairs of Government of India?

(1
(2
(3
(4

ISRO (Indian Space Research Organisation)

DRDO (Defence research and development Organisation)
CSTT (Commission for Scientific & Technical Terminology)
C-DAC (Centre for Development of Advanced Computing)

[ e

AR EIHR & I HAGT & dgd JASTHNT G001 @]t foFE Hatear &
TEANT § S-FEREEHY [AFtad fhar a4 &7

(1) SR (AT JARET ITHUT HITS)

(2) SIS (T 37peer=T 3R fapra Harsa)

(3) HIUHEET (T 3R dohailehl UsEIaell JTHTET)
(4) 2% (3eo1a FYfeaT & Rew & v F7)

[Question ID = 652][Question Description = Q42_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2605]

2. (2) [Option ID = 2606]

3. (3) [Option ID = 2607]

4. (4) [Option ID = 2608]

Correct Answer :-

o (4) [Option ID = 2608]



Which award is given by Railway Board for poetic writing in Hindi?

Jai Shankar Prasad Award
Lal Bahadur Shastri Award
Maithili Sharan Gupt Award
Prem Chand Award

(1
(2
(3
(4

Tt v

T&EI 7 ey oiEeT & [T I0d SIS @RI Hld A WEHR &A1 S1er 82

[Question ID = 653][Question Description = Q43_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2609]

2. (2) [Option ID = 2610]

3. (3) [Option ID = 2611]

4. (4) [Option ID = 2612]

Correct Answer :-

e (3) [Option ID = 2611]



44)

What is the target of the original correspondence in Hindi from a Central
Government office located in "Ka" region to state government offices
located in "Ka" region?

(1) 50%
(2) 60%
(3) 75%
(4) 100%

"F ST H T FEET Er 8T 7 Y9 U5 TR F FEeEr & o
&g TR A AR F Bl A A TR #57 asy F=1qrg?

(1) 50%
(2) 60%
(3) 75%
(4) 100%

[Question ID = 654][Question Description = Q44_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2613]

2. (2) [Option ID = 2614]

3. (3) [Option ID = 2615]

4. (4) [Option ID = 2616]

Correct Answer :-

e (4) [Option ID = 2616]



Who has the right to adopt a language as the official language of the state?

(1) Both houses of Parliament
(2) State Legislature

(3) Prime Minister

(4) President

TR STTST T =T T TTHANT F FT H 39 1 AP Fa 22

(1) e & el Tgel
(2) TsT Taenfaemr
(3) TeITAHAT

(4) TSIt

[Question ID = 655][Question Description = Q45_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2617]

2. (2) [Option ID = 2618]

3. (3) [Option ID = 2619]

4. (4) [Option ID = 2620]

Correct Answer :-

e (2) [Option ID = 2618]



According to Rule 12 of the Official Language Rules 1976, whose
responsibility is it to ensure compliance of the Official Language Act and
Rules in Central Government offices?

(1) Mukhya Rajbhasha Adhikari of the office
(2) Employees of the office

(3) All the officers of the office

(4) Administrative head of the office

TS T 1976 % [99H 123 3JAR &g WXPR HATedl H TN
sifafaas ik et &1 sregaee gRRaa e, e saeidca 82

(1) AT & HET T AR
(2) FRATET & FHE=NT

(3) FrRaTeT & TelT 31fersrr

(4) FATeE & gElAs THE

[Question ID = 656][Question Description = Q46_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2621]

2. (2) [Option ID = 2622]

3. (3) [Option ID = 2623]

4. (4) [Option ID = 2624]

Correct Answer :-

o (4) [Option ID = 2624]



At present how many languages are enlisted in the Eighth Schedule of the
Constitution?

T g?

[Question ID = 657][Question Description = Q47_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2625]

2. (2) [Option ID = 2626]

3. (3) [Option ID = 2627]

4. (4) [Option ID = 2628]

Correct Answer :-

o (3) [Option ID = 2627]



Which of the following languages is not in the 8th Schedule of the
Constitution?

(1) Urdu
(2) Rajasthani
(3) Nepali
(4) Kashmiri

fFrafaf@a & @ #ia @ a7 Fiaure $r 8dl e & el o7

(1) 3¢

(2) Ir=TEATAT
(3) FgTeir
(4) FHNT

[Question ID = 658][Question Description = Q48_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2629]

2. (2) [Option ID = 2630]

3. (3) [Option ID = 2631]

4. (4) [Option ID = 2632]

Correct Answer :-

e (2) [Option ID = 2630]



In which year Official Languages Act was enacted by the Parliament?

(1) 1950
(2) 1963
(3) 1967
(4) 1987

HHE eI TS HUfaad fhe av & siRfafda B mar ar

(1) 1950
(2) 1963
(3) 1967
(4) 1987

[Question ID = 659][Question Description = Q49_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2633]

2. (2) [Option ID = 2634]

3. (3) [Option ID = 2635]

4. (4) [Option ID = 2636]

Correct Answer :-

e (2) [Option ID = 2634]



How many members are there from house of people in the Committee of
Parliament on Official Language?

5 Members

10 Members
20 Members
30 Members

(1
(2
(3
(4

[ R S A R —

THET TTANT RS & ol T ¥ fFae e 8 &7

[Question ID = 660][Question Description = Q50_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2637]

2. (2) [Option ID = 2638]

3. (3) [Option ID = 2639]

4. (4) [Option ID = 2640]

Correct Answer :-

e (3) [Option ID = 2639]



When will the name of the Central Government Office be notified in the
gazette having acquired the working knowledge of Hindi?

(1) When more than 50% of employees have acquired working knowledge
of Hindi.

(2) When 80% of employees have acquired working knowledge of Hindi.
(3) When 90% of employees have acquired working knowledge of Hindi.
(4) When 100% of employees have acquired working knowledge of Hindi.

&Gl T FTAATETF AT Wed FT ol G Sheg TIHN & AT FT a71H
ST H e IO fohar Saem?

(1) S5 50% & 31fas FE=RAT o BT &1 wEaas A9 9ed FT for
(2) T 80% FHATRAT o1 TEGT T HRIETEFR ATH AIcd T foldr &l
(3) T 90% FHEATRAT o BET T FIAGIF AT Ao Y ToraT &l
(4) T 100% FFAET 7 BEr &1 FAATIF AT UIea Y forar @

[Question ID = 661][Question Description = Q51_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2641]
2. (2) [Option ID = 2642]
3. (3) [Option ID = 2643]
4. (4) [Option ID = 2644]

Correct Answer :-
e (2) [Option ID = 2642]



If the employee has passed the Matriculation or an equivalent or higher
examination with Hindi as one of the subjects, he will be considered as
having?

(1) Proficiency in Hindi

(2) Competency in Hindi

(3) Working Knowledge of Hindi
(4) Inadequate knowledge in Hindi

Ife FAANT o HAfCHoIRA a7 FHSET A1 Isael e ST & @y vh
A9 & &7 H 30T #i¥ g, dr 39 JAGT AT

(1) f&dr & wdorar

(2) & 7 Fregar

(3) f&dr =1 FrAETS

(4) =1eT TEEr &1 39T A

[Question ID = 662][Question Description = Q52_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2645]
2. (2) [Option ID = 2646]
3. (3) [Option ID = 2647]
4. (4) [Option ID = 2648]

Correct Answer :-
e (3) [Option ID = 2647]



Which day is celebrated as Hindi Diwas, on this day in 1949 the Constituent
Assembly adopted Hindi in Devanagari script as the official language of the
Indian Union?

(1) 10th January
(2) 14th September
(3) 2nd October
(4) 14th November

ra e # B Gow & &9 # #7aT Jar g, 587 B 1949 # dfgus
I o GaaRRT T & BEr & 9RAT T 6 USRS 919 & ®F H
HYATIT AT?

(1) 10 STTadr

()141%1?:31
(3)2
(4)14;:33?

[Question ID = 663][Question Description = Q53_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2649]
2. (2) [Option ID = 2650]
3. (3) [Option ID = 2651]
4. (4) [Option ID = 2652]

Correct Answer :-
(2) [Option ID = 2650]



Which of the following articles of the Constitution of India gives Hindi the
status of Official language of Union?

(1) Article 341
(2) Article 343
(3) Article 351
(4) Article 373

AR & HigUlel H i@ # & Hld @ 3HeIeoq ol I FG
TR 99T &7 &=t aar &7

[Question ID = 664][Question Description = Q54_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2653]
2. (2) [Option ID = 2654]
3. (3) [Option ID = 2655]
4. (4) [Option ID = 2656]

Correct Answer :-
e (2) [Option ID = 2654]



In which article of the Constitution of India, the directions for the
development of Hindi language have been given?

Article 341
Article 343
Article 351
Article 371

(1
(2
(3
(4

e S T S

AR & Wiaa= & FrE sfeoe A Bar oW & faFmw & der e o
g7

(1) 3f=dde 341
(2) 31T=0e 343
(3) 37T=de 351
(4) 37T=e 371

[Question ID = 665][Question Description = Q55_ASTE_PB_NAIRJUNE23]
1. (1) [Option ID = 2657]

2. (2) [Option ID = 2658]

3. (3) [Option ID = 2659]

4. (4) [Option ID = 2660]

Correct Answer :-

e (3) [Option ID = 2659]

Topic:- ASTE_PC_NAIRJUNE23



1)

When is the Review of service in case of a Railway employee is to be done?

(1) Complete 30 years of service

(2) Attain 55 years of age

(3) Whichever of (1) or (2) above is earlier
(4) All are correct

o FHTIRT & ATHS H Har Hr GAET 9 $Hr JA=T 872

(1) 30 WTer T HaT T el T

(2) 55 I I HF WIed FA T

(3) 3T (1)ar (2)F ¥ = off ugar &
(4) &l =Y 8

[Question ID = 666][Question Description = Q01_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2661]

2. (2) [Option ID = 2662]

3. (3) [Option ID = 2663]

4. (4) [Option ID = 2664]

Correct Answer :-

o (3) [Option ID = 2663]



What is the minimum service limit for transfer on administrative ground?

(1) 60 Days
(2) 1 Year

(3) 3 Years
(4) No Limit

FemaEfaAs YR W FATHR0T & o #aad7 dar AT 7 g2

(1) 60 fe=r
(2)1a¥
(3)3ay

(4) TS HrAT L

[Question ID = 667][Question Description = Q02_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2665]

2. (2) [Option ID = 2666]

3. (3) [Option ID = 2667]

4. (4) [Option ID = 2668]

Correct Answer :-

e (4) [Option ID = 2668]



What is the maximum period of suspension, unless reviewed?

(1) 60 Days
(2) 90 Days
(3) 180 Days
(4) No limit

ST o gHET 7 $r Fv, Fees Fr dfOean 3afer = g2

(1) 60 fe=r
(2)90 &=
(3) 180 &=
(4) TS HrAT L

[Question ID = 668][Question Description = Q03_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2669]
2. (2) [Option ID = 2670]
3. (3) [Option ID = 2671]
4. (4) [Option ID = 2672]

Correct Answer :- Deleted



As per Indian Railway Establishment Manual, what is the minimum service
required for availing House Building Advance (HBA)?

(1) 3 Year
(2) S Year
(3) 10 Year
(4) No limit

HRAT {o0d T Fgamael & 376K, g39 fdfesa vgaie (HBA) ure
el & T =ad el qar 3maeas g2

(1)3ay¥
(2)5a¥
(3) 10 a§
(4) s HrAT LT

[Question ID = 669][Question Description = Q04_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2673]
2. (2) [Option ID = 2674]
3. (3) [Option ID = 2675]
4. (4) [Option ID = 2676]

Correct Answer :- Deleted



As per HOER (Hours of Employment Regulations) rules, what are the
Statutory Limits of duty hours per week for employees classified as
‘Essentially Intermittent’?

(1) 42 Hours
(2) 48 Hours
(2) 54 Hours
(4) 75 Hours

HOER (s fafagst & €e) Tt & snear, 'sifaed &9 & e
& ®9 A Fefepad FAARAT F v 9fq @eae g & uel fr durfas

[Question ID = 670][Question Description = Q05_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2677]
2. (2) [Option ID = 2678]
3. (3) [Option ID = 2679]
4. (4) [Option ID = 2680]

Correct Answer :-
e (4) [Option ID = 2680]



Maximum how many days of LAP leave can be encashed by a Railway
employee in entire service career?

(1) 10 days
(2) 60 Days
(3) 180 Days
(4) 300 Days

ToT FHARY AT 379 T Harhrel 7 3fUFas haa s 1 LAP gedr
HATS ST Hebell 87

[Question ID = 671][Question Description = Q06_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2681]

2. (2) [Option ID = 2682]

3. (3) [Option ID = 2683]

4. (4) [Option ID = 2684]

Correct Answer :-

e (2) [Option ID = 2682]



Who is the Chairman of headquarter level committee of the SBF (Staff
Benefit Fund)?

(1) PCPO
2) AGM
(3)G

(4) PFA

THAIUE (FCTh SfAThe $s) F HEAerd FT HATT & 3eTeT HiaT g2

[Question ID = 672][Question Description = Q07_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2685]
2. (2) [Option ID = 2686]
3. (3) [Option ID = 2687]
4. (4) [Option ID = 2688]

Correct Answer :-
(1) [Option ID = 2685]



What is the periodicity of ‘Participation of Railway Employees in
Management’ (PREM) meeting at Zonal level?

(1) Monthly
(2) Quarterly
(3) Half Yearly
(4) Annually

BT T W UEYd H {oid $AAIdl = SEERT (PREM) §&% &l
rafeerdr 4T 7

(1) ATl a=k
(2) FATT =
(3) 3refantoeh
(4) ar¥=

[Question ID = 673][Question Description = Q08_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2689]
2. (2) [Option ID = 2690]
3. (3) [Option ID = 2691]
4. (4) [Option ID = 2692]

Correct Answer :-
® (2) [Option ID = 2690]



Under HOER (Hours of Employment Regulations) rules, which category of
employees will not have Roster Hours?

(1) Excluded

(2) Intensive

(3) Continuous

(4) Essentially Intermittent

HOER (TR & ¢ [fFa#d) FaAt & gga, &g 9o & 5t &
e AT °¢ 8T giar?

(1) SEE STEY @M 11/ UFAFOES

(2) TEa/ g

(3) Tetaw/ Féeg3E

(4) HoId: Fh-%h Y/ THRITCT seAfAce

[Question ID = 674][Question Description = Q09_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2693]

2. (2) [Option ID = 2694]

3. (3) [Option ID = 2695]

4. (4) [Option ID = 2696]

Correct Answer :-

e (1) [Option ID = 2693]



Name the forum within Indian Railways for resolving the disputes and
differences arising between the administration and staff?

(1) Joint Consultative Machinery (JCM)

(2) Participation of Railway employees in Management (PREM)
(3) Permanent Negotiating Machinery (PNM)

(4) Central Administrative Tribunal

g A FHATT & & 3c9ea gl arel darer 3R AT +F &
F & OIT ARG Idd & Aay # T ATH Sd1e?

(1) TgFd RIARNETHT AL (STHITA)

(2) 9ol H Yo0d HAATAT =l ARNGRT (THRSTH)
(3) TUTT arar AT (droees)

(4) T g ~IrATTaehIoT

[Question ID = 675][Question Description = Q10_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2697]

2. (2) [Option ID = 2698]

3. (3) [Option ID = 2699]

4. (4) [Option ID = 2700]

Correct Answer :-

e (3) [Option ID = 2699]



Which one of the followings in true for the Maternity/ Paternity Leave for the
Employees in in India?

(1) The paid maternity leave is 26 weeks for working women

(2) A woman Employee who is already a mother of 2 children is eligible for
12 weeks of maternity leave for the 3rd child

(3) The paid paternity leave for the male Employee is 15 Days
(4) All the above i.e. (1), (2) & (3) are correct

ARG H FAARAT & ToT Alqea/ Aqea 3@ & v Tefaiad & |
FIT AT HE &2

(1) FTHSST A3 & 6T Gddfs Argea 37ghr 26 @ &

(2) T HAfgell FATNT AT Ugol H & 2=l @l AT g, drd a<d = fow 12
HCATE = Alded 31 & folT 917 §

(3) I¥Y FHGURT & forv gdafds fUdea smaerer 15 f&a &

(4) 39T |alT 37T (1), (2) AR (3) wWer &

[Question ID = 676][Question Description = Q11_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2701]

2. (2) [Option ID = 2702]

3. (3) [Option ID = 2703]

4. (4) [Option ID = 2704]

Correct Answer :-

o (4) [Option ID = 2704]



12)

As per the Railway Services (Conduct) Rules, 1966 which of the followings
is defined as a workplace for a Railway Employee?

(1) Hospitals or Nursing Homes
(2) A dwelling place or a house

(3) any sports institute, stadium, sports complex or competition or games
venue, whether residential or not used for training, sports or other activities
relating thereto

(4) All of the above options are correct

o/ d ®ar (3TeRT) fAgH, 1966 & HgER feafofea # @ 58 o
FHI & T ERTaa & &7 & oienfa G = g2

(1) 3ETTTST AT ATHT BH

(2) e T AT X

(3) 12 off T T, 3w, @ IRy a1 ufamiEar arda e, o
gg 3aTHIT & Ir ufeTur, @ 4T 3HY Hefud g Aaaedr & fow
3UAET AET T Sar &

(4) 3RFT Tt fapea w1 &

[Question ID = 677][Question Description = Q12_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2705]

2. (2) [Option ID = 2706]

3. (3) [Option ID = 2707]

4. (4) [Option ID = 2708]

Correct Answer :-

e (4) [Option ID = 2708]



13)

Child education allowance can be claimed maximum up to how many
children per employee?

(1) Two Children

(2) Three Children

(3) Four Children

(4) No limit for no. of dependent Children

ufa FHar ARean Faa d<ar 9% o e o= & grar &Far o
g&ar g2

(1)ar T==
(2) e T
(3) IR s
(4) 3nfa3a a=ar fr &I HT Hs AT FET

[Question ID = 678][Question Description = Q13_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2709]
2. (2) [Option ID = 2710]
3. (3) [Option ID = 2711]
4. (4) [Option ID = 2712]

Correct Answer :-
e (1) [Option ID = 2709]



14)

During which of following punishment an Employee cannot be promoted?

(1
(2
(3
(4

Withholding of pass

Withholding of increment for a specified period with permanent effect
Censure

None of the above cases are applicable

S it i

g & O 59 g7 & ST FATRY & YEiedtd def af o Thar?

(1) 9/ 8 Rt

(2) Furly wstg @ s fafése 3af & forw 9o« gefdr Uehar
(3) foler

(4) 30T H F F2 A ATHST 6L AN 8

[Question ID = 679][Question Description = Q14_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2713]

2. (2) [Option ID = 2714]

3. (3) [Option ID = 2715]

4. (4) [Option ID = 2716]

Correct Answer :-

e (2) [Option ID = 2714]



15)

To what extent commutation of pension is allowed into a lump sum payment
as a retirement benefit to a Railway Employee?

(1) 25%
(2) 40%
(3) 50%
(4) 60%

W FHAN F AR O F F H UAF H UHHT A HE
AT T FY F AT 82

(1) 25%
(2) 40%
(3) 50%
(4) 60%

[Question ID = 680][Question Description = Q15_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2717]

2. (2) [Option ID = 2718]

3. (3) [Option ID = 2719]

4. (4) [Option ID = 2720]

Correct Answer :-

e (2) [Option ID = 2718]



16)

As per Railway Servants D&A rule, 1968, a Railway Servant shall be
deemed to have been placed under suspension by an order of the
competent authority under which of the following conditions?

(1) Where a case against an employee in respect of any criminal offence, is

(2) With effect from the date of detention of Employee, if employee is
detained in custody, whether on a criminal charge or otherwise, for a period
exceeding forty-eight hours;

(3) Where a disciplinary proceeding against an employee is contemplated
or is pending
(4) All of the above options are frue

{ord Hash 3T U8 T TATH, 1968 & HJHN, Ush I Hash & [eAtoad #
@ forw furfa & wam@ witer & e qarr fawfae A seen?

(1) ster et 3o 3t & d@9v # T FEadr & Eers arEer
ST, qoare ar giieror & e §

(2) FFETr #r Ruaa & aiE F gAET, afe FHE FaEaey 0 o
sifas & 3Efe & e O 3moufes 3T W ar ey BRuaa & w@r
a4 Bl

(3) Stel fardll AT & T@ed FJAHAHS FEaR W EaR fFmar =
W@ Y ar dfag &

(4) 3RFg Tl faweT o &

[Question ID = 681][Question Description = Q16_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2721]

2. (2) [Option ID = 2722]

3. (3) [Option ID = 2723]

4. (4) [Option ID = 2724]

Correct Answer :-

e (2) [Option ID = 2722]



Under which of the following rules of Railway Service Conduct Rules, 1966,
submission of returns of assets and liabilities of movable and immovable
property is mentioned?

(1) Rule No. 13
(2) Rule No. 15
(3) Rule No. 16
(4) Rule No. 18

o9 gar 3R @A, 1966 & Reaforag # ¥ g @ys & aga oo
3N 39 HuURd Hr 9 3R Saeidr &1 Ned AT FLar amid 8?2

(1) &9\ FaAF 13
(2) =\ FATF 15
(3) IH FATF 16
(4) HTH FATH 18

[Question ID = 682][Question Description = Q17_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2725]

2. (2) [Option ID = 2726]

3. (3) [Option ID = 2727]

4. (4) [Option ID = 2728]

Correct Answer :-

o (4) [Option ID = 2728]



Under normal circumstance, what is the maximum period allowed for
retention of Railway Quarter at a previous place of posting on normal rent
on transfer?

(1) Two Months

(2) Three Months

(3) Six Months

(4) One calendar Year

HHET GRIEATT H, TATAGOT 9T @AY T 9T GiiecdT & ool T2l
T YeId FARY HT AT Wl & v sifeshas fraelr smafer v st

¥
(1) ar Hgret
(2) citet ST
(3) ©% Held
(4) T FHeist ay

[Question ID = 683][Question Description = Q18_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2729]

2. (2) [Option ID = 2730]

3. (3) [Option ID = 2731]

4. (4) [Option ID = 2732]

Correct Answer :-

e (1) [Option ID = 2729]



19)

What is the maximum valid period of suspension of an employee, unless it
is extended after review?

(1) 30 Days
(2) 60 Days
(3) 90 Days
(4) Unlimited period of suspension till finalisation of chargesheet

forel Faay & fAode 7 rfean du 3afe a1 g, 99 I 5 gaem
& 91 39 Jordr 7 A0?

(1) 30 &=t
(2)60 BT
(3) 90 &=
(4) 3RTUx A AT FT S Ik Heea @ 3fifFT @t

[Question ID = 684][Question Description = Q19_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2733]
2. (2) [Option ID = 2734]
3. (3) [Option ID = 2735]
4. (4) [Option ID = 2736]

Correct Answer :-
e (3) [Option ID = 2735]



20)

What is the maximum period of continuous leave of any kind i.e., maximum
period of absence from duty, that can be granted to a govt servant?

(1) 180 Days
(2) 300 Days
(3) 3 Year
(4) 5 Year

fordll i g Tl Tl gedl & Jftshad af™ Il 3¢ @ STeaiedid
I JTURaA AT AT &, ST Ush BIHNT HHALRT 1 & ST Hehell 872

(1) 180 o=
(2) 300 et
(3)3aw
(4) 53w

[Question ID = 685][Question Description = Q20_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2737]
2. (2) [Option ID = 2738]
3. (3) [Option ID = 2739]
4. (4) [Option ID = 2740]

Correct Answer :-
e (4) [Option ID = 2740]



21)

Which of the following works will not be charged to Depreciation Reserve
Fund (DRF)?

(1) Replacement of existing Signalling System
(2) Replacement of overaged Rolling Stock
(3) Construction of New Line

(4) Track Renewal

Trafaaa # @ &Fg F1F & g8 3R A (@kme) d gk a@
TR STTam?

(1) Hisger Feartols s 1 qideamds
(2) QU =T Feieh FH ITAEATI

(3) 5 wmSeT M fARTOT

(4) & FdTATRTOT

[Question ID = 686][Question Description = Q21_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2741]

2. (2) [Option ID = 2742]

3. (3) [Option ID = 2743]

4. (4) [Option ID = 2744]

Correct Answer :-

e (3) [Option ID = 2743]



Railway servant is required to report to Government any movable property
transaction, if value of this transaction exceeds "X" amount. What is the
value of "X"?

(1) One Month's Basic Pay
(2) Two Month's Basic Pay
(3) One Year's Basic Pay
(4) Two Year's Basic Pay

I da® B Hdl off 9o §9f & ofed-aeT 1 AT R I Sail gl
afe, 38 die-aet 1 Heg "X R & fAF g1 X" F HoT FATE ?

(1) T A F HA ddA
(2) T HEW *T FHeT daie
(3) U HIS FT HA dd=t
(4)ar ®Tel FT FHeA A

[Question ID = 687][Question Description = Q22_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2745]

2. (2) [Option ID = 2746]

3. (3) [Option ID = 2747]

4. (4) [Option ID = 2748]

Correct Answer :-

e (2) [Option ID = 2746]



When the expenditure on a project/work can be incurred?

(1) Upon inclusion of a project/work in the Pink Book
(2) Upon setting of Target for commissioning of the work/project

(3) Upon Sanction of Detailed Estimate for the work included in the Pink
Book & availability of Funds

(4) All the above three options are correct

Rt o S/EE W sy e AT ST ge@ar 22

(1) Frdlr aREIS=FE 1 T 55 F AT A W/

(2) SRR P el = & v g7 Fuiia & )

(3) ¥ g # wiFAfad st & Aeqa Tewea $T Tipa va e
$T FTeTeIAr 9

(4) 3REFT o= faoeT TEr g

[Question ID = 688][Question Description = Q23_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2749]

2. (2) [Option ID = 2750]

3. (3) [Option ID = 2751]

4. (4) [Option ID = 2752]

Correct Answer :-

e (3) [Option ID = 2751]



Which of the following statement is not a Standard of Financial Propriety?

(1) Expenditure should not prima facie be more than occasion demands

(2) No authority should exercise its power of sanctioning expenditure to
pass an order which will be to its own advantage

(3) Personal money should not be spent for official purposes

(4) Every Government Servant should exercise the same vigilance in
respect of expenditure incurred from public moneys as a person of ordinary
prudence would exercise in respect of the expenditure of his own money

rfef@a #® a Fia ar Fua G iRey &1 #eF 738 82

(1) ST 9AH TSCAT IGAY hI ART § 3TF Aal gl AT

(2) forel &t T Y OF 371¢er IR Fa & T &0 F¥ighd 6 Hr
HIAT ATFT T TAIT FA6l FLAT IIET Al 38 TG & ol & ToIT &l

(3) SATFAIT &7 I TIFRT FAT H T AGT FAT ART

(4) TIF TN FHANT T AEF O & FCT 3I0 T & FIT H Tar
Tdehdl ST AV ST Ueh AT faawefiel suied 319 ¥Tad & o &
o & HET H sodr gl

[Question ID = 689][Question Description = Q24_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2753]

2. (2) [Option ID = 2754]

3. (3) [Option ID = 2755]

4. (4) [Option ID = 2756]

Correct Answer :-

e (3) [Option ID = 2755]



Which one of the followings is not correct for Primary Units in Revenue
Budget for incurring expenditure exclusively towards purchase of stock/non-
stock stores items?

(1) PU32
(2) PU27
(3) PU28
(4) All the above options i.e. (1), (2) & (3) are true

AT & H i &1 T<Ed &olc # UATHS Shedl & ow [diy &9
¥ TH/AR-TeTeh SN TEIST T TE W =TT Fe & o0 Fqer 7l 872

(1) 9rg32
(2) 9rg27
(3) 28
(4) 39tsa gAY AeT a=r (1), (2) 3T 3) T &

[Question ID = 690][Question Description = Q25_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2757]

2. (2) [Option ID = 2758]

3. (3) [Option ID = 2759]

4. (4) [Option ID = 2760]

Correct Answer :-

e (1) [Option ID = 2757]



26)

When will stores items be treated as Dead Surplus items?

(1) Stores items, which have not been issued for 12 months and it is
considered are not likely to be utilized on any railway within next 2 year

(2) Stores items, which have not been issued for 24 months and it is
considered are not likely to be utilized on any railway within next 1 years

(3) Stores items, which have not been issued for 24 months and it is
considered are not likely to be utilized on any railway within next 2 years

(4) Stores items, which have not been issued for 24 months and it is
considered are not likely to be utilized on any railway within next 3 years

SR AT aEg3 N Fd Jo MAAY TEGT & T H AT ACIN?

(1) TR H=eH, S 12 #gEl & fore oy #1r e aw & 3y o #@m&r
ST & a2 @ & oftaw R off o uw 3 fRw ame fr
AT FET &

(2) T 3eH, A 24 HElAl & e Sy &g e v & 31X 38 AEr
AT & & aerer 1 ant & ofiaw T off Wod 9 3uEer v oS fr
AT 78T &

(3) T 3TZeH, S 24 AT & SIRY &7 fopw arw € 3 Aar S € &R
39Tl 2 st & gy R off Yo 9w 3uter fRv S i deraer 78 2
(4) TSR 3STH, S 24 AL W ST 87 o0 a0 g 3R &7 oar § &6
39Tel 3 a8t & gy Rt off Tod 9 3=t fFe S fr Haaer S8 2

[Question ID = 691][Question Description = Q26_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2761]

2. (2) [Option ID = 2762]

3. (3) [Option ID = 2763]

4. (4) [Option ID = 2764]

Correct Answer :-

e (3) [Option ID = 2763]



While processing for sanction of variation of contract which of the following
is to be considered?

(1) Variation of quantities

(2) Variations of price

(3) Vitiation of contract

(4) All the above options are to be considered.

3feferey T ARTAA ST AR & foIT THEorT id TAT feafofad # &
Fa 9X T Far Ser @rfge?

(1) ATAT & aRTAF
(2) hrAEg & aftwersT
(3) 3eISer T Seoleed
(4) 3Rd AT [GFedr W T9ar oA Sem ango|

[Question ID = 692][Question Description = Q27_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2765]

2. (2) [Option ID = 2766]

3. (3) [Option ID = 2767]

4. (4) [Option ID = 2768]

Correct Answer :-

e (4) [Option ID = 2768]



Which one of the following options is correct, for giving a minimum notice
period for obtaining quotations from willing contractors in sealed cover
against the quotations work?

(1) No specific time frame to be followed
(2) Seven Days

(3) Fifteen Days

(4) Twenty-One Days

e FF &+ v gTgew Sherl & Hiolde foIhith # HIeerd wed Hld
& foT sgeraA sAifeq 3@ & & fov Wefaf@a # & sl a1 fasew
TEr 87

(1) Fr5 fafrse gy daT F1 g6 381 Far Ser §
(2) g o=

(3) UegE feat

(4) sohr feeT

[Question ID = 693][Question Description = Q28_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2769]

2. (2) [Option ID = 2770]

3. (3) [Option ID = 2771]

4. (4) [Option ID = 2772]

Correct Answer :-

e (2) [Option ID = 2770]



Which of the following works is not chargeable to Depreciation Reserve
Fund?

(1) Construction of New Line

(2) Track Renewal

(3) Replacement of overaged Signalling System
(4) Replacement of overaged Rolling stock

FElafi@a # | *id a1 F1 Aede™ ARG G @ g6 781 872

(1) @S dge FT fAATor

(2) &% FdIipIoT

(3) U=t Rieeter foees 1 seofr
(4) GUT =TT Tl HT gfdearad

[Question ID = 694][Question Description = Q29_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2773]

2. (2) [Option ID = 2774]

3. (3) [Option ID = 2775]

4. (4) [Option ID = 2776]

Correct Answer :-

e (1) [Option ID = 2773]



Who is responsible for safe custody of the Bank Guarantee submitted by
the contractors to Railway, against the awarded contract?

(1) Executive Officer in-charge
(2) Audit Officer

(3) Cashier

(4) Associated Accounts Officer

T 3% F BT SRt @ W F 9w o & TR
TR ST & foe F Rea §?

(1) THRY FRIFRT 3TEHRT
(2) SIETIITETT 3TTERTr
(3) T

(4) gafara or@r f=rT

[Question ID = 695][Question Description = Q30_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2777]

2. (2) [Option ID = 2778]

3. (3) [Option ID = 2779]

4. (4) [Option ID = 2780]

Correct Answer :-

e (4) [Option ID = 2780]



Reappropriation of funds from one source to another within same Plan Head
can be done by which one of the followings?

(1) Divisional Railway Manager
(2) General Manager

(3) Railway Board

(4) Parliament

T &1 AISToll A A T Al § gF Wi H & T eAdfeTdistel foealiol e
H | pas gant fhar a1 @ehdr 82

(1) #ASSH I 9a9H
(2) FBTHEETH

(3) {era @i

(4) 58

[Question ID = 696][Question Description = Q31_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2781]

2. (2) [Option ID = 2782]

3. (3) [Option ID = 2783]

4. (4) [Option ID = 2784]

Correct Answer :-

e (3) [Option ID = 2783]



Make in India Policy is applicable to which kind of Tenders/ Projects, out of
the following options?

(1) Public Private Partnership (PPP) Projects
(2) Works & Consultancy Tenders

(3) Goods & Services Tenders

(4) All the above options are correct

A% sq4 33w g Seafe@a Tear & ¥ g gsr &
fersit/aRaerst ov oy @ &2

(1) GIdatereh el srefigry (ddid) ol
(2) F1F v gyt Hfaere

(3) @A 3R Faw Hfae

(4) 39aFq Tt Ao TEr g

[Question ID = 697][Question Description = Q32_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2785]

2. (2) [Option ID = 2786]

3. (3) [Option ID = 2787]

4. (4) [Option ID = 2788]

Correct Answer :-

e (4) [Option ID = 2788]



33)

Which of the following action is most appropriate as per Canons of financial
propriety?

(1) Purchase of full 500 numbers of an item against non-stock demand
whereas the revised need later indicated by indenter is only 200 numbers
to avail present offer of low rate in the expectation that the quantity may be
required in future

(2) Helping an employee by frequently sending him out of town on office
work so that he can see his friends

(3) Sanction for withdrawal from one's own PF

(4) Local purchase at a somewhat higher rate but not otherwise available,
for an item extremely critical for wagon outturn

foeit sitfeT & fquial & s mafofea # 8 #ia & FiEs g=
sRag?

(1) -Ferew AT & fovgy et avg @ g 500 @Eam # @l ks
9 H ARTHAT gaRT §aTs T8 WNfT 3MaTsdar Had 200 TEAT g Il
gfgsy & AT FT HTGTFHAT B FT 3FAG F FH e FT TIAT UHT
HT o 3BT AT Tl

(2) TPy AT B FEET F FH T IR-AT AT T T JTHT 3D
HACG HAT dlfeh I8 39« arearl ¥ f&e @

(3) TaF & divsd & foIerat s Hsplr

(4) d1eT HT3TYE F foIC hT Aol g6 & foT o gC aR =
I FAHT WIS, oifehed w47 39y dal ¢

[Question ID = 698][Question Description = Q33_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2789]

2. (2) [Option ID = 2790]

3. (3) [Option ID = 2791]

4. (4) [Option ID = 2792]

Correct Answer :-

e (4) [Option ID = 2792]



34)

Which of the following Authority/ Agency is authorised to conduct statutory
audit of the accounts of Indian Railways?

(1) CAG (Comptroller and Auditor General of India)

(2) CRIS (Centre for Railway Information System)

(3) PFA (Principal Financial Adviser)

(4) KMPG (Klynveld Peat Marwick Goerdeler, International Limited)

fTrafef@a d & Fia a1 wieo/Tsdr aRdw e & aar & dafas
TS I & forw e 27

(1) Hiwsir (RS & I3 U9 #@ger@r giieTeH)

(2) FE (Yo FEeT woTTe )

(3) ivwT (TuTe o TaEsR)

(4) FUANST (Faades dic ARTAE MUSR, TTAAAS [oITHCS)

[Question ID = 699][Question Description = Q34_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2793]

2. (2) [Option ID = 2794]

3. (3) [Option ID = 2795]

4. (4) [Option ID = 2796]

Correct Answer :-

o (1) [Option ID = 2793]



35)

Which of the following is not a function of Accounts Department?

(1) Budget Preparation
(2) Financial Advice
(3) Internal Check

(4) Accounts Keeping

e @a & ¥ &9 I o [T &t 7 78 87

(1) F9T€ IR FT
(2) T welr®

(3) ATTRF ST

(4) eame-frae T@ar

[Question ID = 700][Question Description = Q35_ASTE_PC_NAIRJUNE23]
1. (1) [Option ID = 2797]

2. (2) [Option ID = 2798]

3. (3) [Option ID = 2799]

4. (4) [Option ID = 2800]

Correct Answer :-

e (1) [Option ID = 2797]





